



SUPPLY AND DELIVERY OF DRUGS AND MEDICINES FOR THE UNIVERSITY CLINIC OF MINSU MAIN CAMPUS

Name of Project

BAC Resolution Recommending Approval Resolution No. 07, s. 2025

WHEREAS, the Mindoro State University (MinSU), through Bids and Awards Committee (BAC) has advertised in the PhilGEPS and MinSU Website the Request for Quotation (RFQ) No. 2024-232 for the project "Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus" with an Approved Budget for the Contract (ABC) amounting to Five Hundred Ninety-Nine Thousand Nine Hundred Thirty-Seven Pesos and 35/100 (Php599,937.35);

WHEREAS, in response to the advertisement of the project, six (6) suppliers/bidders were found in the document request list, however two (2) supplier/bidder in the name of CPA PHARMACY and HALO PHARMACY submitted price quotation before the deadline;

WHEREAS, the detailed evaluation of price quotation resulted in the following:

| oproved Budget for the Contract (ABC) | Name of Bidder | Price Quotation |
|---------------------------------------|----------------|-----------------|
| | CPA Pharmacy | Php463,490.00 |
| Php599,937.35 | HALO Pharmacy | Php583,059.23 |

WHEREAS, the BAC examined and verified the price quotation submitted by the abovementioned supplier and were found to be complying and responsive;

NOW, THEREFORE, BE IT RESOLVED that the BAC hereby recommends to the Head of Procuring Entity the approval of awarding the contract involving the project, "Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus" as follows:

a. to CPA Pharmacy for being the supplier/bidder with the Lowest Calculated Responsive Bid (SCRB);

RESOLVED, this 23rd day of January, 2025 at MinSU-Main Campus, Alcate, Victoria, Oriental Mindoro,

CIEDELLE P. SALAZAR, J.D., Ph.D **BAC Chairperson**

Engr. MARK LESTER A MAGPANTAY

BAC Vice-Chairperson

FRANIE M. APABLE, DBMHM **BAC Member**

MELGAR G. FADRIQUE

BAC Member

Approved/Disapproved

ENYA MARIE D. APOSTOL, Ph.D.

SUC President III

Date:



Bid Notice Abstract

Request for Quotation (RFQ)

Reference Number

11641154

Procuring Entity

MINDORO STATE UNIVERSITY

Title

Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus

Area of Delivery

Oriental Mindoro

| Area of Delivery | | la-au- | Closed |
|-----------------------------------|--|-----------------------|---------------------|
| Solicitation Number: | RFQ No. 2024-232 | Status | 0.0504 |
| Trade Agreement: | Implementing Rules and Regulations | | |
| Procurement Mode: | Negotiated Procurement - Small Value Procurement (Sec. 53.9) | Associated Components | 1 |
| Classification: | Goods | Bid Supplements | 0 |
| Category: | Drugs and Medicines | | |
| Approved Budget for the Contract: | PHP 599,937.35 | Document Request List | 6 |
| Delivery Period: | 30 Day/s | | |
| Client Agency: | | Date Published | 04/01/2025 |
| | | 1 | |
| Contact Person: | Christian B. Apostol BAC Secretariat Head Alcate Victoria Oriental Mindoro | Last Updated / Time | 04/01/2025 00:00 AM |
| | Philippines 5205 63-43-2862368 | Closing Date / Time | 07/01/2025 17:00 PM |
| | cbapotol21@gmail.com | | |

Description

Please quote your lowest price on the items / listed below, subject to the General Condition on the last page, stating the shortest time of delivery and submit your quotation duly signed by your representative not later than _ address stated in the last page. CIEDELLE PIOL-SALAZAR, J.D., Ph.D.

BAC Chairperson

Note: 1. All entries must be typewritten.

2. Delivery Period within ____ calendar days.

3. Warranty shall be for a period of six (6) months for supplies and materials, one (1) year for Equipment, from date

of acceptance by the procuring entity.
4. Price validity shall be a period of 30 calendar days.

- 5. G-EPS Registration Certificate shall be attached upon submission of the Quotation.6. Bidders shall submit Original Brochures showing certification of the product being offered (optional).

7. Mode of delivery: [] Pick-up (Schedule) [] Door to Door Delivery

Item

No. Unit ITEM AND DESCRIPTION QTY. UNIT

PRICE TOTAL AMOUNT

- 1 sachets Acetylcysteine Oral Powder 200mg 500
- 2 boxes Aluminum Hydroxide Magnesium + Magnesium 20

3 boxes Amoxicillin 500mg By 100's 13

4 tablets Azithromycin 500mg 230

5 tubes Benzocaine + Boric Acid + Eucalyptus Burn 20

6 tablets Betahistine Hcl 24mg By 100's 249 7 boxes Butamirate Citrate 50mg By 100's 12

8 sachets Calamine + Zinc Oxide Lotion 60ml 71

9 tablets Cefuroxime 500mg 800 10 boxes Cetirizine 10mg By 100's 9

11 tablets Celecoxib 400mg 800

- 12 boxes Cinnarizine 25mg By 100's 5
- 13 boxes Chlorphenamine Maleate 4mg By 100's 8 14 boxes Clindamycin Hcl 300mg 7 15 boxes Cloxacilin 500mg By 100's 7 16 boxes Clonidine 75mcg 2

17 boxes Cotrimoxazole 400mg By 100's 10

18 boxes Co Amoxiclav 625mg 18

19 boxes Cotrimoxazole 800mg By 100's 7

20 boxes Dequalinium Chloride 16

- 21 boxes Dexamethasone 500mcg By 100's 5
- 22 caps Diphenhydramine 50mg 100 23 boxes Domperidone 10mg By 100's 6
- 24 boxes Ferrous SO4 60mg By 100's (Individually Packed) 22 25 bottles Hexetidine 250ml 32
- 26 bottles Hypromellose 15ml Eye Drops 55
- 27 boxes Ibuprofen 400mg 12

28 nebules Ipratropium Bromide 500mcg,. 2.5ml 50 28 nebules Ipratropium Bromide Souricy, 2.5ml 30
29 boxes Loperamide 2mg By 100's 7
30 boxes Loratadine 10mg By 100's 19
31 boxes Mefenamic Acid 500mg Capsule By 100's 8
32 boxes Mefenamiv Acid 500mg Tablets By 100's 11
33 boxes Metoclopramide 10mg By 100's 2
34 boxes Metronidazole 500mg By 100's 4 35 tubes Mupirocin Ointment 5g 21 36 bottles Methyl Salycilate Camphor + Menthol 120ml 60 37 boxes Methyl Salycilate E-Menthol Tocopherol By 159 38 bottles Methyl Salycilate E-Menthol Crystals Eucalyptus 120
39 boxes Omeprazole Inhibita 40mg By 100's 12 40 sachets Oral Rehydration Salt 1000 41 pieces Neomycin So4 Polymycinb So4 13 42 tubes Neomycin So4 Polymycinb So4 13 43 boxes Paracetamol 150mg/Ml, 2ml Ampule By 10's 1 44 boxes Paracetamol 500mg By 100's 40 44 boxes Paracetamol 500mg By 100's 40
45 boxes Paracetamol Propyphenazone Caffeine 5
46 bottles Povidone Iodine Oral Gargle 1% Antiseptic 70
47 boxes Salbutamol 2mg Tab By 100's 2
48 ing=haler Salbutamol 100mcg/Dose 200 Actuations 5
49 boxes Sambong 35
50 tubes Silver Sulfadiazine Cream 1% 15g 15
51 amps Tetanus Antitoxin 1500iu 200
52 amps Tetanus Toxoid Absorbed 40iu/MI 150 52 amps Tetanus Toxoid Absorbed 40iu/Ml 150 53 bottles Tetrahydrozoline Hcl 27 54 boxes rerbutaline Sulfate 5mg 1
55 boxes Tranexamic Acid 500mg By 100's 6
56 boxes Vitex Negundo L. Lagundi Leaf 600mg By 100's 50
57 boxes Vitamin B1 B2 B12 By 100's 14
58 boxes Ascorbic Acid Tablet By 100's 15
59 tubes Clobetasol Tube 500mcg/G 8 54 boxes Terbutaline Sulfate 5mg 1 60 boxes Multivitamins 10 61 tablets Acety; Cysteine Oral Effervescent Tablet 600mg 200 62 tablets Amlodepine 5mg 202 63 tablets Losartan 50mg 200
64 tubes Erythromycin 0.5% 3.5g Eye Ointment 10
65 boxes Lidocaine 2% E-100 With Epinephrine 15
66 tablets Meclizine Hcl 25mg 500 67 tablets Ascorbic Acid Vitamin C 500mg 1500 68 capsule Multivitamins 1500 69 tablets Dicycloverine 10mg 500 70 bottles PNSS 500ml 5

Created by

Annabelle Quinto Madrigal

Date Created

03/01/2025

The PhilGEPS team is not responsible for any typographical errors or misinformation presented in the system. PhilGEPS only displays information provided for by its clients, and any queries regarding the postings should be directed to the contact person/s of the concerned party.

© 2004-2025 DBM Procurement Service. All rights reserved.

Help | Contact Us | Sitemap



REQUEST FOR QUOTATION

Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus

PR No.: PR24-0427 RFQ No. 2024-232

ABC Amount: Php599,937.35

Company Name

Pharmacy Halo Sanfiago City, Isabela

Address : _ Please quote your lowest price on the items / listed below, subject to the General Condition on the last page, stating the shortest time of ry and submit your quotation duly signed by your representative not later than _______ in the address stated in the last page.

CIEDELLE PIOT-SALVZAR, J.D., Ph.D. delivery and submit your quotation duly signed by your representative not later than _

BAC Chairperson

Note:

1. All entries must be typewritten.
2. Delivery Period within ____calendar days.
3. Warranty shall be for a period of six (6) months for supplies and materials, one (1) year for Equipment, from date of acceptance by the procuring entity.
4. Price validity shall be a period of 30 calendar days.
5. G-EPS Registration Certificate shall be attached upon submission of the Quotation.
6. Bidders shall submit Original Brochures showing certification of the product being offered (optional).
7. Mode of delivery: [] Pick-up (Schedule) [] Door to Door Delivery

| Item No. | Unit | ITEM AND DESCRIPTION | QTY. | UNIT | TOTAL AMOUNT |
|-------------|---------|---|------|--------|--------------|
| 1 | sachets | Acetylcysteine Oral Powder 200mg | 500 | 24.06 | 12,000 |
| 2 | boxes | Aluminum Hydroxide Magnesium + Magnesium | 20 | 114 | 2,280 |
| 3 | boxes | Amoxicillin 500mg By 100's | 13 | 217-50 | 2,827,50 |
| 4 | tablets | Azithromycin 500mg | 230 | 43-50 | 10,003 |
| 5 | tubes | Benzocaine + Boric Acid + Eucalyptus Burn | 20 | 547.00 | 10,950 |
| 6 | tablets | Betahistine Hcl 24mg By 100's | 249 | 348 | 1,343.28 |
| 7 | boxes | Butamirate Citrate 50mg By 100's | 12 | 1,080 | 12,940 |
| 8 | sachets | Calamine + Zinc Oxide Lotion 60ml | 71 | 54.00 | 3, 834 |
| 9 | tablets | Cefuroxime 500mg | 800 | 12.00 | 12,006 |
| 10 | boxes | Cetirizine 10mg By 100's | 9 | 84-00 | 756.00 |
| 11 | tablets | Celecoxib 400mg | 800 | 3.98 | 3,180 |
| 12 | boxes | Cinnarizine 25mg By 100's | 5 | 187.20 | 937.50 |
| 13 | boxes | Chlorphenamine Maleate 4mg By 100's | 8 | 84-00 | 472.00 |
| 14 | boxes | Clindamycin Hcl 300mg | 7 | 487.00 | 3, 412.50 |
| 15 | boxes | Cloxacilin 500mg By 100's | 7 | 300 | 2,100 |
| 16 | boxes | Clonidine 75mcg | 2 | 430 | 1,260 |
| 17 | boxes | Cotrimoxazole 400mg By 100's | 10 | 187.0 | 1,875 |
| 18 | boxes | Co Amoxiclav 625mg | 18 | 187.00 | 3, 375 |
| 19 | boxes | Cotrimoxazole 800mg By 100's | 7 | 247-50 | 1,732.50 |
| 20 | boxes | Dequalinium Chloride | 16 | 1,440 | 23,040 |
| 21 | boxes | Dexamethasone 500mcg By 100's | 5 | 1,890 | 9,400 |
| 22 | caps | Diphenhydramine 50mg | 100 | 2.48 | 247.50 |
| 23 | boxes | Domperidone 10mg By 100's | 6 | 33.50 | 801.00 |
| 24 | boxes | Ferrous SO4 60mg By 100's (Individually Packed) | 22 | 129 | 2,838 |
| 25 | bottles | Hexetidine 250ml | 32 | 437.50 | 20,400 |
| 26 | bottles | Hypromellose 15ml Eye Drops | 55 | 02.581 | 10,212,50 |
| 27 | boxes | Ibuprofen 400mg | 12 | 127-30 | 1.230 |
| 28 | nebules | Ipratropium Bromide 500mcg,. 2.5ml | . 50 | 18-00 | 900.00 |
| 29 | boxes | Loperamide 2mg By 100's | 7 | 84.00 | 788·00 |

MSU-BAC-FR-05.01





| 30 | boxes | Loratadine 10mg By 100's | 19 | 277.50 | 5,272,50 |
|----|-----------|---|------|--------|-----------|
| 31 | boxes | Mefenamic Acid 500mg Capsule By 100's | 8 | 102 | 840.00 |
| 32 | boxes | Mefenamiv Acid 500mg Tablets By 100's | 11 | 105 | 1, 155 |
| 33 | boxes | Metoclopramide 10mg By 100's | 2 | 127-50 | 222.00 |
| 34 | boxes | Metronidazole 500mg By 100's | 4 | 120 | 400-CD |
| 35 | tubes | Mupirocin Ointment 5g | 21 | 97.50 | 2,047.50 |
| 36 | bottles | Methyl Salycilate Camphor + Menthol 120ml | 60 . | 181-20 | 10,890 |
| 37 | boxes | Methyl Salycilate E-Menthol Tocopherol By | 159 | 840 | 133,500 |
| 38 | bottles | Methyl Salycilate Menthol Crystals Eucalyptus | 120 | 181.50 | 21,780 |
| 39 | boxes | Omeprazole Inhibita 40mg By 100's | 12 | 397.50 | 4,770 |
| 40 | sachets | Oral Rehydration Salt | 1000 | 4.50 | 4,500 |
| 41 | pieces | Neomycin So4 Polymycinb So4 | 13 | 840 | 16,920 |
| 42 | tubes | Neomycin So4 Polymycinb So4 | 13 | 840 | 10,920 |
| 43 | boxes | Paracetamol 150mg/MI, 2ml Ampule By 10's | 1 | 180 | 180.00 |
| 44 | boxes | Paracetamol 500mg By 100's | 40 | 82-20 | 3,300 |
| 45 | boxes | Paracetamol Propyphenazone Caffeine | 5 | 1,440 | 7,200 |
| 46 | bottles | Povidone Iodine Oral Gargle 1% Antiseptic | 70 | 630 | 44,100 |
| 47 | boxes | Salbutamol 2mg Tab By 100's | 2 | 34.00 | 108.00 |
| 48 | ing=haler | Salbutamol 100mcg/Dose 200 Actuations | 5 | 135 | 643.00 |
| 49 | boxes | Sambong | 35 | 547.50 | 19.142.50 |
| 50 | tubes | Silver Sulfadiazine Cream 1% 15g | 15 | 97.50 | 1,462.50 |
| 51 | amps | Tetanus Antitoxin 1500iu | 200 | 137-50 | 31,500 |
| 52 | amps | Tetanus Toxoid Absorbed 40iu/Ml | 150 | 84.00 | 12,600 |
| 53 | bottles | Tetrahydrozoline Hcl | 27 | 187.50 | 5,062.50 |
| 54 | boxes | Terbutaline Sulfate 5mg | 1 | 1,440 | 1,440 |
| 55 | boxes | Tranexamic Acid 500mg By 100's | 6 | 840 | 3,040 |
| 56 | boxes | Vitex Negundo L. Lagundi Leaf 600mg By 100's | 50 | 547.50 | 27.375 |
| 57 | boxes | Vitamin B1 B2 B12 By 100's | 14 | 127.50 | 1,785 |
| 58 | boxes | Ascorbic Acid Tablet By 100's | 15 | 82.50 | 1,237.50 |
| 59 | tubes | Clobetasol Tube 500mcg/G | 8 | 97-50 | 780.00 |
| 60 | boxes | Multivitamins | 10 | 97.50 | 975.00 |
| 61 | tablets | Acety;Cysteine Oral Effervescent Tablet 600mg | 200 | 19.50 | 3,900 |
| 62 | tablets | Amlodepine 5mg | 202 | 0.98 | 196.95 |
| 63 | tablets | Losartan 50mg | 200 | 1.34 | 247.00 |
| 64 | tubes | Erythromycin 0.5% 3.5g Eye Ointment | 10 | 97.50 | 975.00 |
| 65 | boxes | Lidocaine 2% E-100 With Epinephrine | 15 | 1,200 | 18,000 |
| 66 | tablets | Meclizine Hcl 25mg | 500 | 54-00 | 27,000 |
| 67 | tablets | Ascorbic Acid Vitamin C 500mg | 1500 | 0-83 | 1,237.50 |
| 68 | capsule | Multivitamins | 1500 | 6.98 | 1,442-50 |
| | tablets | Dicycloverine 10mg | 500 | 0.98 | 487-50 |
| 69 | | | | 82-50 | 412.50 |

After having carefully read and accepted your General Condition, I / We quote you on the item at prices noted above

Supplier's Signature over Printed Name 933 - 389 - 254 - 00000

TIN No. of Establishment 09973443571

Contact Number

MSU-BAC-FR-05.01



Poblacion 1, Victoria, Oriental Mindoro TIN: 129-326-144-00000

Yolanda D. Matanguihan – Owner/Pharmacist Email Address: ydmatanguihan_cpa@yahoo.com

Supply and Delivery Drugs and Medicines for the University Clinic of MinSU Main Campus

| TAB | REQUIREMENTS | | | |
|-----|--|--|--|--|
| | | | | |
| Α | Duly signed original copy of Request for Quotation (RFQ) | | | |
| В | PhilGEPS Registration Certificate | | | |
| С | Valid Mayor's/Business Permit | | | |
| D | Omnibus Sworn Statement | | | |
| Е | BIR Certificate of Registration | | | |
| F | Latest Income Tax | | | |
| G | Latest Business Tax | | | |
| Н | Tax Clearance | | | |
| 1 | DTI Registration | | | |
| J | FDA Registration/LTO | | | |





REQUEST FOR QUOTATION

Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus

PR No.: PR24-0427 RFQ No. 2024-232

ABC Amount: Php599,937.35

Company Name

: _CPA PHARMACY

Address : Poblacion 1, Victoria, Oriental Mindoro

Please quote your lowest price on the items / listed below, subject to the General Condition on the last page, stating the shortest time of any and submit your quotation duly signed by your representative not later than ______ in the address stated in the last page.

CIEDELLE PIOL SALAZAR, J.D., Ph.D. delivery and submit your quotation duly signed by your representative not later than

BAC Chairperson

All entries must be typewritten.
 Delivery Period within <u>15</u> calendar days.

3. Warranty shall be for a period of six (6) months for supplies and materials, one (1) year for Equipment, from date

of acceptance by the procuring entity.

4. Price validity shall be a period of 30 calendar days.

G-EPS Registration Certificate shall be attached upon submission of the Quotation.
 Bidders shall submit Original Brochures showing certification of the product being offered (optional).

7. Mode of delivery: [] Pick-up (Schedule) [X] Door to Door Delivery

| Item No. | Unit | ITEM AND DESCRIPTION | QTY. | UNIT PRICE | TOTAL AMOUNT |
|-------------|-----------|---|-------|---------------|--------------|
| 1 | sachets / | Acetylcysteine Oral Powder 200mg | 500 / | 21.00 | 10,500.00 |
| 2 | boxes - | Aluminum Hydroxide Magnesium + Magnesium | 20 / | 250.00 | 5,000.00 |
| 3 | boxes / | Amoxicillin 500mg By 100's | 13 – | 300.00 | 3,900.00 |
| 4 | tablets - | Azithromycin 500mg | 230 / | 30.00 | 6,900.00 |
| 5 | tubes | Benzocaine + Boric Acid + Eucalyptus Burn | 20 / | 150.00 | 3,000.00 |
| 6 | tablets / | Betahistine Hcl 24mg By 100's | 249 | 24.00 | 5,976.00 |
| 7 | boxes / | Butamirate Citrate 50mg By 100's | 12 / | 1,100.00 | 13,200.00 |
| 8 | sachets | Calamine + Zinc Oxide Lotion 60ml | 71 / | 50.00 | 3,550.00 |
| 9 | tablets | Cefuroxime 500mg | 800 _ | 18.00 | 14,400.00 |
| 10 | boxes | Cetirizine 10mg By 100's | 9 / | 150.00 | 1,350.00/ |
| 11 | tablets / | Celecoxib 400mg | 800 - | 6.00 | 4,800.00/ |
| 12 | boxes | Cinnarizine 25mg By 100's | 5 / | 250.00 | 1,250.00 |
| 13 | boxes | Chlorphenamine Maleate 4mg By 100's | 8 _ | 120.00 | 960.00/ |
| 14 | boxes < | Clindamycin Hcl 300mg | 7 / | 700.00 | 4,900.00 |
| 15 | boxes < | Cloxacilin 500mg By 100's | 7 / | 700.00 | 4,900.00 |
| 16 | boxes | Clonidine 75mcg | 2 / | 4,500.00 | 9,000.00 |
| 17 | boxes | Cotrimoxazole 400mg By 100's | 10 / | 300.00 | 3,000.00/ |
| 18 | boxes | Co Amoxiclav 625mg | 18 / | 360.00 | 6,480.00/ |
| 19 | boxes - | Cotrimoxazole 800mg By 100's | 7 / | 400.00 | 2,800.00 |
| 20 | boxes | Dequalinium Chloride | 16 _ | 1,100.00 | 17,600.00√ |
| 21 | boxes | Dexamethasone 500mcg By 100's | 5 | 400.00 | 2,000.00 |
| 22 | caps / | Diphenhydramine 50mg | 100 / | 1.50 | 150.00 |
| 23 | boxes / | Domperidone 10mg By 100's | 6 ~ | 600.00 | 3,600.00 |
| 24 | boxes | Ferrous SO4 60mg By 100's (Individually Packed) | 22 / | 200.00 | 4,400.00/ |
| 25 | bottles | Hexetidine 250ml | 32 < | 420.00 | 13,440.00 |
| 26 | bottles | Hypromellose 15ml Eye Drops | 55 / | 200.00 | 11,000.00 |
| 27 | boxes | Ibuprofen 400mg | 12 _ | 500.00 | 6,000.00/ |
| 28 | nebules - | Ipratropium Bromide 500mcg,. 2.5ml | 50 | 95.00 | 4,750.00/ |
| 29 | boxes _ | Loperamide 2mg By 100's | 7 | 120.00 | 840.00 |

MSU-BAC-FR-05.01





| 30 | boxes | Loratadine 10mg By 100's | 19 – | 650,00 | 12,350.00 |
|----|-----------|--|-------|----------|-----------|
| 31 | boxes | Mefenamic Acid 500mg Capsule By 100's | 8 / | 200,00 | 1,600.00 |
| 32 | boxes | Mefenamiv Acid 500mg Tablets By 100's | 11 - | 350.00 | 3,850.00 |
| 33 | boxes | Metoclopramide 10mg By 100's | 2 / | 500.00 | 1,000.004 |
| 34 | boxes - | Metronidazole 500mg By 100's | 4 / | 250.00 | 1,000.00 |
| 35 | tubes | Mupirocin Ointment 5g | 21- | 150.00 | 3,150.00 |
| 36 | bottles | Methyl Salycilate Camphor + Menthol 120ml | 60 | 135.00 | 8,100.00 |
| 37 | boxes | Methyl Salycilate E-Menthol Tocopherol By | 159 | 80.00 | 12,720.00 |
| 38 | bottles | Methyl Salycilate Menthol Crystals Eucalyptus | 120 | 80.00 | 9,600.00 |
| 39 | boxes | Omeprazole Inhibita 40mg By 100's | 12 - | 700.00 | 8,400.00 |
| 40 | sachets | Oral Rehydration Salt | 1000 | 5.00 | 5,000.00 |
| 41 | pieces | Neomycin So4 Polymycinb So4 | 13- | 700.00 | 9,100.00 |
| 42 | tubes | Neomycin So4 Polymycinb So4 | 13 — | 700,00 | 9,100.00 |
| | | Paracetamol 150mg/Ml, 2ml Ampule By 10's | 1 | 300.00 | 300.00 |
| 43 | boxes | Paracetamol 500mg By 100's | 40 / | 145.00 | 5,800.00 |
| 44 | boxes | Paracetamol Propyphenazone Caffeine | 5 | 1,000.00 | 5,000.00 |
| 45 | boxes | Povidone Iodine Oral Gargle 1% Antiseptic | 70 | 190.00 | 13,300.00 |
| 46 | bottles | Salbutamol 2mg Tab By 100's | 2 - | 100.00 | 200.00 |
| 47 | | Salbutamol 100mcg/Dose 200 Actuations | 5 | 180.00 | 900.00 |
| 48 | ing=haler | Sambong | 35 | 600.00 | 21,000.00 |
| 49 | boxes | Silver Sulfadiazine Cream 1% 15g | 15 | 300.00 | 4,500,00 |
| 50 | tubes | Tetanus Antitoxin 1500iu | 200 | · 210.00 | 42,000.00 |
| 51 | amps - | Tetanus Toxoid Absorbed 40iu/MI | 150 | 120,00 | 18,000.00 |
| 52 | amps | Tetrahydrozoline Hcl | 27 | 200,00 | 5,400.00 |
| 53 | bottles | Terbutaline Sulfate 5mg | 1 - | 500.00 | 500.00 |
| 54 | boxes | Tranexamic Acid 500mg By 100's | 6 | 1,100.00 | 6,600.00 |
| 55 | boxes | Vitex Negundo L. Lagundi Leaf 600mg By 100's | 50 | 600.00 | 30,000.0 |
| 56 | boxes | Vitex Negurido E. Lagaridi Ecar Goonig 57 200 | 14 - | 250.00 | 3,500.0 |
| 57 | boxes | Ascorbic Acid Tablet By 100's | 15 - | 150.00 | 2,250.0 |
| 58 | boxes - | Clobetasol Tube 500mcg/G | 8 _ | 150.00 | 1,200.0 |
| 59 | tubes | Multivitamins | 10 - | 180.00 | 1,800.0 |
| 60 | boxes | Acety;Cysteine Oral Effervescent Tablet 600mg | 200 | 25,00 | 5,000.0 |
| 61 | tablets | | 202 | 2.00 | 404.0 |
| 62 | tablets | Amlodepine 5mg | 200 - | 2.50 | 500.0 |
| 63 | tablets | Losartan 50mg Erythromycin 0.5% 3.5g Eye Ointment | 10 | 260.00 | 2,600.0 |
| 64 | tubes | Lidocaine 2% E-100 With Epinephrine | 15 / | 1.600.00 | 24,000.0 |
| 65 | boxes | Meclizine Hcl 25mg | 500 | 16.00 | 8,000.0 |
| 66 | tablets | Ascorbic Acid Vitamin C 500mg | 1500 | 1.50 | 2,250.0 |
| 67 | tablets | - Committee of the comm | 1500 | 1.80 | 2,700.0 |
| 68 | capsule . | | 500 | 1.00 | 500.0 |
| 69 | tablets | Dicycloverine 10mg | 5 | 134.00 | 670. |
| 70 | bottles | PNSS 500ml | | | 463,490. |

YOLANDA D. MATANGUIHAN Supplier's Signature over Printed Name

129-326-144-00000 TIN No. of Establishment

09176562195 Contact Number

MSU-BAC-FR-05.01



| January 7, 2025 | |
|-----------------|--|
| Date | |

General Conditions

1. Quotations and other requirements stated below shall be submitted to the Bids and Awards Committee (BAC) Office, Mindoro State University -Main Campus, Alcate, Victoria, Oriental Mindoro, Philippines on the date and time stated in this RFP.

Supplier shall submit the following requirements:

a. Duly signed original copy of Request for Quotation (RFQ). Prices shall be quoted in Philippine Pesos.

b. PhilGEPS Registration

Valid Mayor's/Business Permit

d. Omnibus Sworn Statement

e. BIR Certificate of Registration

Latest Income/Business Tax Return

TAX Clearance

h. DTI Registration/SEC Certificate i. Original Brochures or certificates of the items offered showing its performance characteristics or specifications, if applicable

Price validity shall be 30 calendar days from the deadline of submission of quotation.

Ocular Inspection

Upon the decision of the End-User and BAC, the supplier and its concerned premises may be subjected to ocular inspection and approval by the End-User and/or TWG Inspections of the BAC prior to the award.

Award

The supplier that submitted the lowest calculated responsive quotation, and passed the inspection conducted by the End-User and BAC prior to the event, if any, shall be awarded the contract.

Evaluation of Quotations

Quotations shall be compared and evaluated of the basis of the following criteria:

- 1. Completeness of Submission
- 2. Compliance with Item & Description Requirements
- 3. Price

Instructions

- 1. Supplier shall be responsible for the source(s) of its goods/services/equipment, and which shall be in accordance with the schedule and specifications of the RFQ or contract. Failure of the supplier to comply with this provision shall be ground for cancellation of the award or purchase order issued to the supplier.
- Supplier that accepted an award, purchase order, or contract but failed to deliver the required goods/services/equipment within the time called for in the award, purchase order, or contract shall be disqualified from participating in MinSU or any of MinSU campuses future procurement activities. This is without prejudice to the imposition of other sanctions prescribed under R.A. 9184 and its IRR-A against the supplier.
- All duties, excise, and other taxes and revenue charges shall be paid by the supplier.
- All transactions are subject to withholding of credible Government Taxes per revenue regulation(s) of the Bureau of Internal Revenue

Liquidation Damages

A penalty of one-tenth of one percent (0.001) of the total value of the undelivered goods/services/equipment shall be charged as liquidated damages for every day of delay of the delivery of the purchased goods/services/equipment.

Warranty

Supplier warrants that all goods/services/equipment to be provided are of acceptable industry standard.

Payment

Payment shall be made only upon a certification by the Head of the Procuring Entity to the effect that the GOODS have been rendered or delivered in accordance with the terms of this Contract and have been duly inspected and accepted.

Republic of the Philippines Department of Budget and Management

PROCUREMENT SERVICE

CERTIFICATE OF PHILGEPS REGISTRATION (Platinum Membership)

THIS IS TO CERTIFY THAT

CPA PHARMACY

POBLACION 1,

Victoria, Oriental Mindoro, Region IV-B, Philippines

is registered in the Philippine Government Electronic Procurement System (PhilGEPS) on 27-Jan-2005 pursuant to Section 8.5.2 of the Revised Implementing Rules and Regulations of Republic Act No. 9184, otherwise known as the Government Procurement Reform Act.

This further certifies that CPA PHARMACY has submitted the required eligibility documents in the PhilGEPS Supplier Registry as listed in Annex A, which document is attached hereto and made an integral part hereof.

For the purpose of updating this Certificate, all Class "A" eligibility documents covered by Section 8.5.2 of the Revised Implementing Rules and Regulations of Republic Act No. 9184 supporting the veracity, authenticity and validity of this Certificate shall remain current and updated. The failure by the prospective Bidder to update this Certificate with the current and updated Class "A" eligibility documents shall result in the automatic suspension of its validity until such time that all of the expired Class "A" eligibility documents has been updated. By submitting this Certificate, the Bidder certifies:

- 1. the authenticity, genuineness, validity, and completeness of the copy of the original eligibility documents submitted;
- 2. the veracity of the statements and information contained therein;
- 3. that the Certificate is not a guaranty that the named registrant will be declared eligible without first being determined to be such for that particular bidding, nor is it an evidence that the Bidder has passed the post-qualification stage; and
- 4. that any finding of concealment, falsification, or misrepresentation of any of the eligibility documents submitted, or the contents thereof shall be a ground for disqualification from further participation in the bidding process, without prejudice to the imposition of appropriate administrative, civil and criminal penalty in accordance with the laws.

This Certificate is valid until 01-Jun-2025

Issued this 27th day of May 2024. This is a system generated certificate. No signature is required.



Documentary Stamp Tax Paid Php 30.00 Certificate Reference No: 200501-6243-40225844

Page 1 of 3

REMINDERS 1

- The PhilGEPS office shall not determine the eligibility of merchants. The PhilGEPS office's evaluation of the eligibility requirements shall be for the sole purpose of determining the approval or disapproval of the merchant's application for registration.
- A merchant's registration and membership in the GOP-OMR is neither contract-specific nor understood to be tantamount to a finding of eligibility. Neither shall the merchant's successful registration in the GOP-OMR be relied upon to claim eligibility for the purpose of participation in any public bidding.
- The determination of the eligibility of merchants, whether registered with the GOP-OMR or not, shall remain with the Bids and Awards Committee (BAC). The BAC's determination of validity of the eligibility requirements shall be conclusive to enable the merchant to participate in the public bidding process.

Certificate Reference No: 200501-6243-40225844

List of Eligibility Documents

of CPA PHARMACY

POBLACION 1,

Victoria , Oriental Mindoro , Region IV-B , Philippines

| | DTI Certificate Number : 2209456 |
|------------------------------------|--|
| | Issued By / Signatory : RAMON M. LOPEZ |
| DTI Certificate | Registration Date : 01-Oct-2020 |
| | Expiration Date : 01-Oct-2025 |
| | Expiration Date: 31-Dec-2024 |
| | Permit Number: 888 0345 |
| Mayors Permit | Place of Issue: VICTORIA ORIENTAL MINDORO |
| | Issued By / Signatory: JOSELITO C. MALABANAN |
| | Issuance Date: 10-Jan-2024 |
| | Expiration Date: 01-Mar-2025 |
| | TCC Number: RR9A-063-02-29-R0407-2024-E |
| Tax Clearance | Issued By / Signatory : AMIHAN L. VALDEZ |
| | Issuance date: 29-Feb-2024 |
| | Date of Filing: 10-Apr-2024 |
| | Current Asset : 2,618,117.50 |
| Audited Financial Statement | Total Asset: 3,255,741.50 |
| | Current Liabilities: 43,625.14 |
| | Total Liabilities: 43,625.14 |
| | Name of Auditor: FLOR S. MARASIGAN |
| | BIR RDO Code: 063 |
| | Expiration Date : - |
| | Issued By / Signatory: |
| PCAB License | Issuance Date : - |
| | License Number: |
| | License First Issue Date : - |
| | Principal Classification: |
| | Category: |

Certificate Reference No: 200501-6243-40225844



Republic of the Philippines Province of Oriental Alindoro MUNICIPALITY OF VICTORIA

KNOW ALL MEN BY THESE PRESENT

Pursuant to the provision of Tax Ordinance Number 06-2012, otherwise known as the revised Revenue Code of Victoria, Oriental Mindoro, after the taxes and Charges, etc., and compliance with the existing requirements permit is hereby granted to herein taxpayer.

Mayor's Permit of Business

| Status: | Permit Number: 888-0156 | Date of Issuance: 06 Jan 2025 A | Date of Expiration: December 31, 2025 |
|--------------|----------------------------|------------------------------------|--|
| O.R. Number: | O.R. Date: | Amount Paid: 32,730.00 | Capital Gross Sales: |
| 4334381 | 1/06/2025 | | 4,200,000.00 |

Taxpayer's Name:

MATANGUIHAN, YOLANDA

Business Name:

CPA PHARMACY

Nature of Business:

DRUGSTORE, MEDICAL AND DENTAL SUPPLIES AND EQUIPMENT (WHOLESALER/RETAILER)

OFFICE EQUIPMENT, MACHINERY AND ELECTRONIC EQUIPMENT

Address:

OLD MARKET, POBLACION I, Victoria, Oriental Mindoro

PERMIT SHALL BE SUBJECT TO IMMEDIATE GANCELLATION IF THERE IS FAILURE ON PART OF THE GRANTEE TO CONTINUOUSLY COMPLY WITH THE PROVISION OF THE BUILDING GODE OF THE PHILIPPINES AND OTHER PERTINENT LAWS AND REGULATION RELATIVE TO ISSUANCE OF PERMIT AND LICENSE

Approved by:

By the Authority of the Mayor

JOSELITO C. MALABANAN Municipal Mayor

This Franchise Permit and Official Receipt shall be displayed or posted for public view in a conspicuous place within the place of business of undertaking.

9156031500), MDRRING (19770127197/09109183/197), MHO(0917

Omnibus Sworn Statement

Republic of the Philippines)
Province of Or. Mindoro) SS
Municipality of Victoria)

AFFIDAVIT

I, YOLANDA D. MATANGUIHAN, of legal age, married, Filipino, and residing at Poblacion 1, Victoria, Oriental Mindoro, after having been duly sworn in accordance with law, do hereby depose and state that:

- 1. I am the sole proprietor of CPA PHARMACY with office address at Poblacion 1, Victoria, Oriental Mindoro;
- 2. As the owner and sole proprietor of CPA PHARMACY, I have full power and authority to do, execute and perform any and all acts necessary to represent it in the bidding for Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus;
- 3. CPA PHARMACY is not "blacklisted" or barred from bidding by the Government of the Philippines or any of its agencies, offices, corporations, or Local Government Units, foreign government/foreign or international financing institution whose blacklisting rules have been recognized by the Government Procurement Policy Board;
- 4. Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct;
- 5. CPA PHARMACY is authorizing the Head of the Procuring Entity or its duly authorized representative to verify all the documents submitted;
- 6. I am not related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;
- 7. CPA PHARMACY complies with existing labor laws and standards; and
- 8. CPA PHARMACY is aware of and has undertaken the following responsibilities as a Bidder:
 - a. Carefully examine all of the Bidding Documents;
 - b. Acknowledge all conditions, local or otherwise, affecting the implementation of the Contract;
 - c. Made an estimate of the facilities available and needed for the contract to be bid, and inquire or secure Supplemental/Bid Bulletin(s) issued for the Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus.
- 9. CPA PHARMACY did not give or pay directly or indirectly, any commission, amount, fee, or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.
- 10. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with the unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.

IN WITNESS WHEREOF, I have hereunto set my hand this 7th day of January, 2025 at Victoria Oriental Mindoro, Philippines.

YOLANDA'D. MATANGUIHAN Affiant

ACKNOWLEDGEMENT

SUBSCRIBE AND SWORN to before me this 7th day of January, 2025 at Victoria, Oriental Mindoro, Philippines. Affiant personally known to me and was identified by me through competent evidence of identity as defined in the 2004 Rules on National Practice (A.M. No. 02-8-13-SC). Affiant exhibited to me her PRC ID, with her photograph and signature appearing thereon, with No. 0029008 and her Community Tax Certificate No.15791150 issued on January 6, 2025 at Victoria, Oriental Mindoro, Philippines.

Witness my hand and seal this 7th day of January, 2025.

Doc. No. 3/0: Page No. 63; Book No. 63; Series of 2025 ATTY ARISTEDES A. MARAMOT

NOTARY PUBLIC

Until Dec. 31, 2026 NP No. 24-285 PTR No. 4332927/Victoria/01-02-25 Roll No. 41130/April 15, 1996 IBP No. 495052/01-02-25/Or. Mdo MCLE Compl. No. VIII-0013894 Valid Until April 14, 2028

Omnibus Sworn Statement

Republic of the Philippines)
Province of Or. Mindoro) SS
Municipality of Victoria)

AFFIDAVIT

I, YOLANDA D. MATANGUIHAN, of legal age, married, Filipino, and residing at Poblacion 1, Victoria, Oriental Mindoro, after having been duly sworn in accordance with law, do hereby depose and state that:

- 1. I am the sole proprietor of CPA PHARMACY with office address at Poblacion 1, Victoria, Oriental Mindoro;
- 2. As the owner and sole proprietor of CPA PHARMACY, I have full power and authority to do, execute and perform any and all acts necessary to represent it in the bidding for Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus;
- 3. CPA PHARMACY is not "blacklisted" or barred from bidding by the Government of the Philippines or any of its agencies, offices, corporations, or Local Government Units, foreign government/foreign or international financing institution whose blacklisting rules have been recognized by the Government Procurement Policy Board;
- 4. Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct;
- 5. CPA PHARMACY is authorizing the Head of the Procuring Entity or its duly authorized representative to verify all the documents submitted;
- 6. I am not related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;
- 7. CPA PHARMACY complies with existing labor laws and standards; and
- 8. CPA PHARMACY is aware of and has undertaken the following responsibilities as a Bidder:
 - a. Carefully examine all of the Bidding Documents;
 - b. Acknowledge all conditions, local or otherwise, affecting the implementation of the Contract;
 - c. Made an estimate of the facilities available and needed for the contract to be bid, and inquire or secure Supplemental/Bid Bulletin(s) issued for the Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus.
- 9. CPA PHARMACY did not give or pay directly or indirectly, any commission, amount, fee, or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.
- 10. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with the unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.

IN WITNESS WHEREOF, I have hereunto set my hand this 7th day of January, 2025 at Victoria Oriental Mindoro, Philippines.

YOLANDA D. MATANGUIHAN Affiant

ACKNOWLEDGEMENT

SUBSCRIBE AND SWORN to before me this 7th day of January, 2025 at Victoria, Oriental Mindoro, Philippines. Affiant personally known to me and was identified by me through competent evidence of identity as defined in the 2004 Rules on National Practice (A.M. No. 02-8-13-SC). Affiant exhibited to me her PRC ID, with her photograph and signature appearing thereon, with No. 0029008 and her Community Tax Certificate No.15791150 issued on January 6, 2025 at Victoria, Oriental Mindoro, Philippines.

Witness my hand and seal this 7th day of January, 2025.

Doc. No. 3/o; Page No. 43; Book No. LXVIII Series of 2025 ATTY. ARISTEDES A. MARAMOT NOTARY PUBLIC

Until Dec. 31, 2026 NP No. 24-285 PTR No. 4332927/Victoria/01-02-25 Roll No. 41130/April 15, 1996 IBP No. 495052/01-02-25/Or. Mdo MCLE Compl. No. VIII-0013894

Valid Until April 14, 2028

BIR FORM 2303 REVISED: APRIL 2019

REPUBLIKA NG PILIPINAS KAGAWARAN NG PANANALAPI KAWANIHAN NG RENTAS INTERNAS

REVENUE REGION NO. 09A - CABAMIRO (CAVITE-BATANGAS-MINDORO-ROMBLON)
REVENUE DISTRICT OFFICE NO. 063 - CALAPAN, ORIENTAL MINDORO

OCN: 063RC20220000002713

Date OCN Generated: July 18, 2022

UPDATED ONUL 1 8 2022

CERTIFICATE OF REGISTRATION

TIN & BRANCH CODE
129-326-144-00000

REGISTERING OFFICE

Y Head Office

REGISTERED ADDRESS
POBLACION I 5205 VICTORIA ORIENTAL MINDORO PHILIPPINES

TIN ISSUANCE DATE
October 1, 2007

Branch
Branch

| TAX TYPES | FORM TYPES | FILING START DATE | FILING FREQUENCY | FILING DUE DATE |
|--------------------------------------|---------------|-----------------------|---------------------|--|
| WITHHOLDING TAX - COMPENSATION | 1604C | January 1, 2023 | ANNUALLY | On or before January 31 of the year following the calendar year in which the compensation payment and other income payments were paid or accrued. |
| VALUE ADDED TAX | 2550M | May 12, 2011 | MONTHLY | Not later than the 20th day following the close of the month. |
| VALUE ADDED TAX | 2550Q | May 12, 2011 | QUARTERLY | Not later than the 25th day following the close of each taxable quarter. |
| REGISTRATION FEE | 0605 | October 1, 2007 | ANNUALLY | On or before the last day of January. |
| INDIVIDUAL INCOME TAX | 1701 | September 16, 2003 | ANNUALLY | On or before April 15 of each year covering income for the preceding taxable year. |
| INDIVIDUAL INCOME TAX | 1701Q | July 31, 2007 | QUARTERLY | 1st Quarter-on or before MAY 15 2nd Quarter-on or before AUGUST 15 3rd Quarter-on or before November 15 |
| WITHHOLDING TAX - EXPANDED/OTHERS | 0619E | July 18, 2022 | MONTHLY | On or before the 10th day of the month following the month in which withholding was made. |
| WITHHOLDING TAX - EXPANDED/OTHERS | 1601EQ | July 18, 2022 | QUARTERLY | Not later than the last day of the month following the close of the quarter during which withholding was made. |
| WITHHOLDING TAX - EXPANDED/OTHERS | 1604E | January 1, 2023 | ANNUALLY | On or before March 1 of the year following the calendar year in which the income payments subject to expanded withholding taxes or exempt from withholding tax were paid or accrued. |
| WITHHOLDING TAX - COMPENSATION | 1601C | March 16, 2022 | MONTHLY | On or before the 10th day of the month following the month when the withholding was made except for taxes withheld for December which shall be filed and paid/remitted on or before |

BIR FORM 2303 REVISED: APRIL 2019

REPUBLIKA NG PILIPINAS KAGAWARAN NG PANANALAPI KAWANIHAN NG RENTAS INTERNAS

REVENUE REGION NO. 09A - CABAMIRO (CAVITE-BATANGAS-MINDORO-ROMBLON)
REVENUE DISTRICT OFFICE NO. 063 - CALAPAN, ORIENTAL MINDORO

OCN: 063RC20220000002713 Date OCN Generated: July 18, 2022

UPDATED ON 1 1 8 2022

CERTIFICATE OF REGISTRATION

TIN & BRANCH CODE
129-326-144-00000
REGISTERING OFFICE
REGISTERED ADDRESS

NAME OF TAXPAYER
MATANGUIHAN, YOLANDA DIMAANO
October 1, 2007

Registered Address

NAME OF TAXPAYER
MATANGUIHAN, YOLANDA DIMAANO
October 1, 2007

Registered Address

operation, to avoid penalties.

For new business registrants, application for registration of manual Books of Accounts (B/As) shall be before
the deadline for filing of the initial quarterly income tax return or annual income tax return whichever comes
earlier, from the date of registration. Registration of new set of manual B/As shall be before its use.

4. Immediately inform the district office in case of transfer/cessation of business and other changes in

registration information by filing BIR Form No. 1905.

POBLACION I 5205 VICTORIA ORIENTAL MINDORO PHILIPPINES

5. For Self-Employed Individuals (SEI) whose gross sales and/or receipts and other non-operating income does not exceed P3,000,000 and who opted to avail of the 8% Income tax rate, the tax type Percentage Tax (PT) shall not be reflected in the Certificate of Registration (COR). However, at the start of each taxable year, such SEI shall be automatically subjected to graduated income tax rates and required to file quarterly percentage tax return (BIR Form No. 2551Q) and option to replace the COR to reflect "PT", unless qualified and opted to avail of the 8% Income tax rate annually.



I hereby certify that the above named person is registered as indicated above, under the provision of the National Internal Revenue Code, as amended.

EMELITA R. ABO

REVENUE DISTRICT OFFICER (Signature over Printed Name)

THIS CERTIFICATE MUST BE EXHIBITED CONSPICUOUSLY IN THE PLACE OF BUSINESS.

2303 REVISED: APRIL 2019

REPUBLIKA NG PILIPINAS KAGAWARAN NG PANANALAPI KAWANIHAN NG RENTAS INTERNAS

REVENUE REGION NO. 09A - CABAMIRO (CAVITE-BATANGAS-MINDORO-ROMBLON)
REVENUE DISTRICT OFFICE NO. 063 - CALAPAN, ORIENTAL MINDORO

OCN: 063RC20220000002713

Date OCN Generated: July 18, 2022

UPDATED ON 1 8 2022

CERTIFICATE OF REGISTRATION

TIN & BRANCH CODE NAME OF TAXPAYER 129-326-144-00000 MATANGUIHAN, YOLANDA DIMAANO October 1, 2007

REGISTERING OFFICE X Head Office Branch

REGISTERED ADDRESS
POBLACION I 5205 VICTORIA ORIENTAL MINDORO PHILIPPINES

| OF ATTERNAL REVENUE BURNAU OF INTERNAL OF INTERNAL REVENUE BURNAU OF INTERNAL | NEW DIEGO DE LA CONTRETADA DEL CONTRETADA DE LA CONTRETADA DE LA CONTRETADA DEL CONTRETADA DEL CONTRETADA DE LA CONTRETADA DEL CONTRETADA DEL CONTRETADA DE LA CONTRETADA DEL | HEVENUE BUREAU OF IN TOWN JO HEVENUE BUREAU OF IN PRINCIPAL HEVENUE BUREAU OF IN PRINCIPAL HEVENUE BUREAU OF IN PRINCIPAL | anuary 15 of the succeeding year. |
|---|--|--|---|
| TAXPAYER TYPE/S | SINGLE PROPRIETORSHIP ONLY (RE | SIDENT CITIZEN | YELF BUREAU OF INTERNAL REVENUE BUREAU OF INTERNAL PROVINCE BUREAU OF INTERNAL REVENUE BUREAU OF INTERNAL PROVINCE BUREAU OF INTERNAL PROVINCE BUREAU OF INTERNAL PROVINCE BUREAU OF INTERNAL PROVINCE BUREAU OF INTERNAL PRO |
| BUSINESS INFORM | ATION DETAILS | L REVENUE BUREAU OF INTERNAL RE- L REVENUE BUREAU OF INTERNAL RE- SPURMES GUERAU OF INTERNAL RE- | PERME BUREAU OF INTERNAL REVENUE BUREAU OF INTERNAL PERME BUREAU OF INTERNAL REVENUE BUREAU OF INTERNAL PERME BUREAU OF INTERNAL REVENUE BUREAU OF INTERNAL PENSE BUREAU OF INTERNAL REVENUE BUREAU OF INTERNAL |
| F INTERNAL REVENUE BUREAU OF INTERNAL IF INTERNAL REVENUE BUREAU OF INTERNAL | NEVERSE BUTTERO DE SE ESPERA SEVENSE BUTTERO DE SENDIO ENVENDE BUTTERO DE SENDIO DE SE | CATEGORY | REGISTRATION DATE |
| TRADE NAME 1 | CPA PHARMACY | REVENUE BUREAU OF INTERNAL REV REVENUE BUREAU OF INTERNAL REV | October 1, 2007 |
| (PSIC) | 46594-WHOLESALE OF PROFESSIONAL AND SCIENTIFIC AND MEASURING AND CONTROLLING EQUIPMENT | NEVENUE DUREAU OF NTERNAL RE- REVENUE BUREAU OF OTTERNAL RE- REVENUE BUREAU OF OTTERNAL RE- REVENUE BUREAU OF INTERNAL RE- | THE MATERIA OF PETERNAL REVENUE BARRIAL OF MITERIA FILE BLITEAU OF WITERNAL REVENUE BLITEAU OF INTERNAL FILE BURKEAU OF WITERNAL REVENUE BLITEAU OF INTERNAL FILE BURKEAU OF WITERNAL REVENUE BLITEAU OF WITERNAL SAUE BURKEAU OF WITERNAL REVENUE BLITEAU OF WITERNA SAUE BURKEAU OF WITERNAL REVENUE BLITEAU OF WITERNA SAUE BURKEAU OF WITERNAL REVENUE BURKEAU OF WITERNAL SAUE BURKEAU OF WITERNAL REVENUE BURKEAU OF WITERNAL |
| Line of Business | WHOLESALE OF PROFESSIONAL AND SCIENTIFIC AND MEASURING AND CONTROLLING EQUIPMENT | Secondary | CHANT BURBAL OF PUTERNAL REVISION BURBAL OF RITERNA MALE BURBAL OF ROTERNAL REVISION BURBAL OF RITERNA FIRST BURBAL OF PUTERNAL REVISION BURBAL OF RITERNA MALE BURBAL OF PUTERNAL REVENUE BURBAL OF RITERNA MALE BURBAL OF RITERNAL REVENUE BURBAL OF RITERNA MALE BURBAL OF RITERNAL REVENUE BURBAL OF RITERNA MALE BURBAL OF RITERNAL REVENUE BURBAL OF RITERNAL MALE BURBAL OF RITERNAL REVENUE BURBAL OF RITERNAL |
| (PSIC) | 47722-RETAIL SALE OF MEDICAL, SURGICAL AND ORTHOPEDIC GOODS/INSTRUMENTS AND DENTAL SUPPLIES | NEWTHER SUREAL OF PETERAL SCI REVENUE SUREAL OF PETERAL SCI REVENUE SUREAL OF PETERAL SCI REVENUE SUREAL OF PETERAL SCI REVENUE SUREAL OF STERAL SCI REVENUE SUREAL SCI REVE | AND SAFEAR OF ATTEMAN, NEW EAST SAFEAR OF WITTOM AND SAFEAR OF ATTEMAN, NEW EAST SAFEAR OF WITTOM AND SAFEAR OF ATTEMAN, NEW EAST SAFEAR OF WITTOM AND SAFEA |
| Line of Business | RETAIL SALE OF MEDICAL, SURGICAL AND ORTHOPEDIC GOODS/INSTRUMENTS AND DENTAL SUPPLIES | Primary | NAME BUTCHAS OF WITERAL REVENUE GURZAL OR RIFTMAN MATERIA DE NITERAL REVENUE BUTCHAS OR RIFTMAN MATERIA DE NITERAL REVENUE BUTCHAS OR RITTMAN MATERIA DE NITERAL REVENUE BUTCHAS OR RITTMAN MATERIA OF RITTMAN BEVONDE BUTCHAS OR RITTMAN MATERIA OF RITTMAN BEVONDE BUTCHAS OF RITTMAN MATERIA OF RITTMAN BUTCHAS DURCHAS OF RITTMAN MATERIA OF RITTMAN BUTCHAS BUTCHAS OF RITTMAN MATERIA DE NITERAL DE RITTMAN BUTCHAS DE REPORTE BUTCHAS OF RITTMAN MATERIA DE RITTMAN BUTCHAS DE REPORTE BUT |
| (PSIC) | 47720-RETAIL SALE OF PHARMACEUTICAL AND MEDICAL GOODS, COSMETIC AND TOILET ARTICLES IN SPECIALIZED STORES | Secondary | SUR BUTBAN OF WYERSAL BEYESSE BRIDAN OF SYSTEM AND BUTBAN OF WYERSAL BEYESSE BYENA, OF SYSTEM AND BUTBAN OF WYERSAL BEYESSE BYENA, OF SYSTEM BUTBAN OF WYERSAL BYENA, BYENA, BALLAN OF SYSTEM BUTBAN OF WYERSAL BYENA, BYENA, CONTROL BUTBAN OF WYERSAL BYENA, BYENA, OF SYSTEM BUTBAN OF WYERSAL BYENA, BYENA, CONTROL BUTBAN OF WYERSAL BY |
| Line of Business | RETAIL SALE OF OTHER GOODS IN SPECIALIZED STORES | REVENUE BUREAU OF INTERNAL REV REVENUE BUREAU OF INTERNAL REV REVENUE BUREAU OF INTERNAL REV | MAIN BLAMEAU OF INTERNAL PEVENUE BUREAU OF INTERNA PAINE BUREAU OF INTERNAL REVENUE BUREAU OF INTERNA MAINE BUREAU OF INTERNAL REVENUE BUREAU OF INTERNAL SALIE BUREAU OF INTERNAL REVENUE BUREAU OF INTERNAL |
| (PSIC) | 46429-WHOLESALE OF MISCELLANEOUS CONSUMER GOODS, N.E.C. | Secondary | THE BUTCH OF WITCHIS, REVENUE BUTCH, OF WITCHIS HE BUTCH OF WITCHIS, REVENUE BUTCH, OF WITCHIS WITCHIS BUTCH, OF WITCHIS, WITCHIS BUTCH, WITCHIS BUTCH, OF WITCHIS BUTCH, |
| Line of Business | WHOLESALE OF HOUSEHOLD GOODS | REVENUE BUREAU OF INTERNAL REV REVENUE BUREAU OF INTERNAL REV | THUE BUREAU OF INTERNAL REVENUE BUREAU OF INTERNA- |
| (PSIC) | 47739-OTHER RETAIL SALE OF NEW GOODS IN SPECIALIZED STORES, N.E. C. | Secondary | NAME BLUTTERA OF INTERNAL REVENUE BUTTERA OF BITTERS SOUT BUTTERA OF STITUMENT, REVENUE BUTTERA OF BITTERS AND BATTERA OF STITUMENT, REVENUE BUTTERA OF BUTTERS AND BUTTERA OF STITUMENT, REVENUE, BUTTERA OF BUTTERS AND BUTTERS OF STITUMENT, REVENUE, BUTTERA OF STITUMENT BUTTERS OF STITUMENT, REVENUE, BUTTERS BU |
| Line of Business | RETAIL SALE OF OTHER GOODS IN SPECIALIZED STORES | REVENUE BUREAU OF INTERNAL REV REVENUE BUREAU OF INTERNAL REV REVENUE BUREAU OF INTERNAL REV REVENUE BUREAU OF INTERNAL REV | WAR MUMERAS OF EVERTAGE ROVENIUS RIJECTO O EVERTAGE PRINT BLUESAL OF NETERAGE REVENIUS BURBLES OF VIETERIA ENIE BLUESAL OF EVERTAGE REVENIUS BURBLES OF WEITERIA FUE BLUESAL OF EVERTAGE REVENIUS BURBLES OF WEITERIA ENIE BURBLAU OF EVERTAGE REVENIUS BURBLES OF MYTERIA |

REMINDERS:

- An annual registration fee shall be paid upon registration and every year thereafter on or before the last day of January, using BIR Form No. 0605.
- 2. Filing of required tax return/s to conform with the above tax types, whether with or without business



Bureau of Internal Revenue Republic of the Philippines Home | Login | Revenue Issuances | FA



Home | Login | Revenue Issuances | FAQs | Job Alds | BIR Main | Downloads | Logout

REPUBLIC OF THE PHILIPPINES DEPARTMENT OF FINANCE

BUREAU OF INTERNAL REVENUE

FILING REFERENCE NO.

TIN : 129-326-144-000

Name : MATANGUIHAN YOLANDA DIMAANO

RDO : 063

Form Type : 1701Q

Reference No. : 422400062533365

Amount Payable (Over Remittance) : 4,619.40

Accounting Type : C - Calendar

For Tax Period : 09/30/2024

Date Filed : 11/07/2024

Tax Type : IT

Proceed to Payment

BIR Main | eFPS Login | User Menu | Help]



BIR eFPS has received the payment confirmation for your tax return from SBTC.

| TIN | 129 - 326 - 144 - 000 |
|----------------------------|------------------------------|
| Taxpayer's Name | MATANGUIHAN, YOLANDA DIMAANO |
| Тах Туре | IT |
| Return Period | 09/30/2024 |
| Transacting Bank | SBTC (027000) |
| Reference Number | 422400062533365 |
| Payment Transaction Number | 244987552 |
| Payment Transaction Date | 11/07/2024 |
| Actual Amount Paid | 4619.40 |
| SBTC's Confirmation Number | BI-110724-90426 |

[eFPS Main | BIR Main | Help | Print]



Guidelines and Instructions | Help Reference No:422400062533365 Date Filed:November 07 2024 10:23 AM Batch Number:0



BIR Form No.

1701Q 01/18ENCS P1



For BIR Use Only

| 100 | ng Rentas | Er | | Individuals, Esta | tes and Trues using BLACK | ısts | | anuary 2018 (ENCS) |
|--|--|--|--------------------------------|--|--|------------------------------------|---|-------------------------------------|
| | | | with an 🗡 . Тwo сорг | es MOST be flied with a | ie birk and one i | neid by the ra. | CT liet. | Page 1 |
| 1 For the Year | 1 | 2 Quarter | | 3 Amended Return? | > | | umber of Sheet/s | Attached |
| (YYYY) 2024 | | O 1st O | 2nd 💿 3rd | O Yes O No | o | 0 | | |
| | | Part I | – Background Inf | ormation on Tax | payer/Filer | | | |
| 5 Taxpayer Identification Num (TIN) | nber 129 | - | 326 | - 144 | - 000 | | 6 RDO Cod | e 063 |
| 7 Taxpayer/Filer Type | ⊚ Sir | ngle Proprietor | Professional | Estate Trust | | | | |
| o Alphanumeric I | 012 Business -Graduated IT | | | 013 Mixed e-Graduated IT Inco | II015 Busine ome–8% IT Ra | | | II016 Mixed Income–8% IT Rate |
| 9 Taxpayer/Filer's Name (Las | t Name, First Name, | Middle Name for In | dividual) /ESTATE of (First Na | me, Middle Name, Last Nam | re) / TRUST FAO: (| First Name, Midd | le Name, Last Name |) |
| MATANGUIHAN, YOLAN | DA DIMAANO | | | | | | | |
| 10 Registered Address (India using BIR Form 1905) | cate complete registe | ered address. If brar | nch, indicate the branch addre | ess. If the registered address | is different from the | e current address | , go to the RDO to up | date registered address |
| PUBLIC MARKET OR. N | VINDORO | | | | | | | |
| | | | | | | 10A ZIP Cod | de 52 | 05 |
| 11 Date of Birth (MM/DD/Y | YYY) · | 12 Email Addres | SS . | | | | | |
| 09/15/1963 | | ydmatanguihar | n_cpa@yahoo.com | | | | | |
| 13 Citizenship | | | 14 Foreign Tax Number | er (if applicable) | | 15 Claiming | Foreign Tax Cred | its? |
| FILIPINO | | | | | | O Yes | No | |
| profession) 3M)] 16A Method of Deduction Itemized Deduction | | | | | | | | |
| | [Sec. 34(A-J), I | VIRC] Op | tional Standard Deduc | ction (OSD) [40% of C | ∂ross Sales/R | eceipts/Reve | nues/Fees [Sec | c. 34(L), NIRC]] |
| | [Sec. 34(A-J), I | | tional Standard Deduc | | | | nues/Fees [Sec | c. 34(L), NIRC]] |
| 17 Spouse's TIN | [Sec. 34(A-J), N | Part II - | | | | | 18 RDO Co | |
| | | Part II - | Background Infor | rmation on Spous | se (if applicable) | | | |
| 17 Spouse's TIN 19 Filer's Spouse Type II012 Busi Income—Gradus | 129 | Part II – Single Pro 14 Income fron on–Graduated | Background Infor | - 144 Compensation | se (if applicable) | (e) | 18 RDO Co | de II016 Mixe |
| 17 Spouse's TIN 19 Filer's Spouse Type II012 Busi Income—Gradus | iness II0' ated IT Professi | Part II – Single Pro 14 Income from on–Graduated | Background Infor | - 144 Compensation II011 Compensation | - 000 Earner II015 Business Income—8% | (e) | 18 RDO Co | de II016 Mixe Income–8% IT |
| 17 Spouse's TIN 19 Filer's Spouse Type 20 ATC II012 Busi Income—Gradua Rates 21 Spouse's Name (Last No.) | iness II0' ated IT Professi | Part II – Single Pro 14 Income from on–Graduated | Background Infor | - 144 Compensation II011 Compensation Income | - 000 Earner II015 Business Income—8% | Ie) If from F IT Rat | 18 RDO Co | II016 Mixed Income—8% IT Rate |
| 17 Spouse's TIN 19 Filer's Spouse Type 20 ATC II012 Busi Income—Gradua Rates | iness II0' ated IT Professi | Part II – Single Pro 14 Income from on–Graduated | Background Infor | - 144 Compensation II011 Compensation Income | - 000 Earner II015 Business Income—8% | Ie) If from F IT Rat | 18 RDO Co | II016 Mixe Income–8% IT Rate |
| 17 Spouse's TIN 19 Filer's Spouse Type 20 ATC II012 Busi Income—Gradua Rates 21 Spouse's Name (Last Name (Last Name (Last Name (Last Name (Choose one, 1976))) 25 Tax Rate* (Choose one, 1976) income, 1976 income, 1976 | iness II0 ated IT Professi IT Rates ame, First Name, | Part II — Single Pro 14 Income from on—Graduated is Middle Name) eer Tax Table — freceipts & other | Background Infor | - 144 Inal Compensation III011 Compensation Income er, if applicable and of Deduction in Item in lieu of Graduate | se (if applicable of applicabl | IT from F IT Rat 24 Claiming Yes | 18 RDO Co 1017 Income Profession—8% e Foreign Tax Cred No 2)(a) & Percent | II016 Mixe Income–8% IT Rate |

| 62 Total Tax Credits/Payments (Sum of | tems 55 to 61) (<u>To Part III, Item 27)</u> | | | 45,068 | 0 |
|--|---|---|----------|-----------------------|-----------------------------|
| 63 Tax Payable/(Overpayment) (Item | 16 or 54, Less Item 62) (<u>To Part III, Item 28</u> | 2). | | 4,619 | 0 |
| Schedule IV – Penalties | | | | | |
| 64 Surcharge | | | | 0 | 0 |
| 65 Interest | | | | 0 | 0 |
| 66 Compromise | | | | 0 | 0 |
| 67 Total Penalties (Sum of Items 64 to 6 | 6) (To Part III, Item 29) | | | 0 | 0 |
| 68 Total Amount Payable/(Overpayme | nt) (Sum of Items 63 and 67) (To Part III, Ite | em 30). | | 4,619 | 0 |
| TABLE 1 – Tax Rates (effective Janu | ary 1, 2018 to December 31, 2022) | TABLE 2 – Tax Rates (effective | e Januar | y 1, 2023 and o | nwards) |
| If Taxable Income is: | Tax Due is: | If Taxable Income is: | | | Tax Due is: |
| Not over P250,000 | 0% | Not over P250,000 | | 0% | |
| Over P250,000 but not over P400,000 | 20% of the excess over P250,000 | Over P250,000 but not over P400,000 | | 15% of the excess ov | ver P250,000 |
| Over P400,000 but not over P800,000 | P30,000 + 25% of the excess over P400,000 | Over P400,000 but not over P800,000 | | P22,500 + 20% of the | e excess over P400,000 |
| Over P800,000 but not over P2,000,000 | P130,000 + 30% of the excess over P800,000 | Over P800,000 but not over P2,000,000 | | P102,500 + 25% of the | ne excess over P800,000 |
| Over P2,000,000 but not over P8,000,000 | P490,000 + 32% of the excess over P2,000,000 | Over P2,000,000 but not over P8,000,000 | | P402,500 + 30% of the | ne excess over P2,000,000 |
| Over P8,000,000 | P2,410,000 + 35% of the excess over P8,000,000 | Over P8,000,000 | | P2,202,500 + 35% of | fthe excess over P8,000,000 |
| Attachments | | | | | I Attachment ve Attachment |
| | Prev Page: 02 | v of 2 | Next | | |
| | Print Payment | t Details Proceed to | Payme | nt | |

[BIR Main | Tax Return Inquiry | User Menu | Guidelines and Instructions | Help]



Guidelines and Instructions | Help Reference No:422400062533365 Date Filed:November 07 2024 10:23 AM Batch Number:0

BIR Form No. 1701Q

Quarterly Income Tax Return For Individuals, Estates and Trusts



January 2018 (ENCS) For Individ

| PART V - COMPUTATION OF TAX DUE (DO NOT ente | er Centavos; 49 Centavos or Less o | rop down; 50 or more round |
|--|---------------------------------------|----------------------------|
| Declaration this Quarter | A) Taxpayer/Filer | B) Spouse |
| If graduated rate, fill in items 36 to 46; if 8%, fill in items 47 to 54 chedule I – For Graduated IT Rate | | |
| 36 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) | 857,830 | |
| 37 Less: Cost of Sales/Services (applicable only if availing Itemized Deductions) | 669,492 | |
| 38 Gross Income/(Loss) from Operation (Item 36 Less Item 37) | 188,338 | |
| Less: Allowable Deductions | | |
| 39 Total Allowable Itemized Deductions | 122,166 | |
| OR | 1 | |
| 40 Optional Standard Deduction (OSD) (40% of Item 36) | 0 | |
| 41 Net Income/(Loss) This Quarter(If Itemized: Item 38 Less Item 39; If OSD: Item 38 Less Item 40) | 66,172 | |
| Add: 42 Taxable Income/(Loss) Previous Quarter/s | 469,765 | |
| 43 Non-Operating Income (specify) | 0 | |
| | | |
| | | |
| | Add Delete | Upload Attachme |
| 44 Amount Received/Shared in Income by a Partner from General Professional Partnership (GPP) | 0 | |
| 45 Total Taxable Income/(Loss) To Date (Sum of Items 41 to 44) | 535,937 | |
| To Total Taxable modification to Date (com or nome 11 to 11) | | |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (<u>To Part III, Item 26)</u> | 49,687 | |
| | 49,687 | |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 26) | 49,687 | |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 26). | | |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II – For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) | 0 | |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II – For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) | 0 | |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II – For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) | 0 | Upload Attachme |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II – For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) | 0 | Upload Attachme |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II – For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) | 0 0 Add Delete | Upload Attachme |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II – For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) 49 Total Income for the quarter (Sum of Items 47 and 48) | Add Delete | Upload Attachme |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II — For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) 49 Total Income for the quarter (Sum of Items 47 and 48) 50 Add: Total Taxable Income/(Loss) Previous Quarter (Item 51 of previous quarter) 51 Cumulative Taxable Income/(Loss) as of This Quarter (Sum of Items 49 and 50) 52 Less: Allowable reduction from gross sales/receipts and other non-operating income of purely self-employed individuals | Add Delete | Upload Attachme |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II – For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) 49 Total Income for the quarter (Sum of Items 47 and 48) 50 Add: Total Taxable Income/(Loss) Previous Quarter (Item 51 of previous quarter) 51 Cumulative Taxable Income/(Loss) as of This Quarter (Sum of Items 49 and 50) | Add Delete O O O O | Upload Attachme |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II — For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) 49 Total Income for the quarter (Sum of Items 47 and 48) 50 Add: Total Taxable Income/(Loss) Previous Quarter (Item 51 of previous quarter) 51 Cumulative Taxable Income/(Loss) as of This Quarter (Sum of Items 49 and 50) 52 Less: Allowable reduction from gross sales/receipts and other non-operating income of purely self-employed individuals d/or professionals in the amount of P 250,000 53 Taxable Income/(Loss) To Date (Item 51 Less Item 52) | Add Delete O O O O O | Upload Attachme |
| thedule II — For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) 49 Total Income for the quarter (Sum of Items 47 and 48) 50 Add: Total Taxable Income/(Loss) Previous Quarter (Item 51 of previous quarter) 51 Cumulative Taxable Income/(Loss) as of This Quarter (Sum of Items 49 and 50) 52 Less: Allowable reduction from gross sales/receipts and other non-operating income of purely self-employed individuals d/or professionals in the amount of P 250,000 53 Taxable Income/(Loss) To Date (Item 51 Less Item 52) | Add Delete 0 0 0 0 0 0 0 0 0 | Upload Attachme |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II — For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) 49 Total Income for the quarter (Sum of Items 47 and 48) 50 Add: Total Taxable Income/(Loss) Previous Quarter (Item 51 of previous quarter) 51 Cumulative Taxable Income/(Loss) as of This Quarter (Sum of Items 49 and 50) 52 Less: Allowable reduction from gross sales/receipts and other non-operating income of purely self-employed individuals d/or professionals in the amount of P 250,000 53 Taxable Income/(Loss) To Date (Item 51 Less Item 52) | Add Delete 0 0 0 0 0 0 0 0 0 | Upload Attachme |
| A6 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 25) chedule II — For 8% IT Rate 47 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) 49 Total Income for the quarter (Sum of Items 47 and 48) 50 Add: Total Taxable Income/(Loss) Previous Quarter (Item 51 of previous quarter) 51 Cumulative Taxable Income/(Loss) as of This Quarter (Sum of Items 49 and 50) 52 Less: Allowable reduction from gross sales/receipts and other non-operating income of purely self-employed individuals clor professionals in the amount of P 250,000 53 Taxable Income/(Loss) To Date (Item 51 Less Item 52) 54 TAX DUE (Item 53 × 8% Tax Rate) (To Part III, Item 26), chedule III — Tax Credits/Payments | Add Delete | Upload Attachme |
| thedule II — For 8% IT Rate 17 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 18 Add: Non-Operating Income (specify) 19 Total Income for the quarter (Sum of Items 47 and 48) 50 Add: Total Taxable Income/(Loss) Previous Quarter (Item 51 of previous quarter) 51 Cumulative Taxable Income/(Loss) as of This Quarter (Sum of Items 49 and 50) 52 Less: Allowable reduction from gross sales/receipts and other non-operating income of purely self-employed individuals dior professionals in the amount of ₱ 250,000 53 Taxable Income/(Loss) To Date (Item 51 Less Item 52) 54 TAX DUE (Item 53 × 8% Tax Rate) (To Part III, Item 26). Schedule III — Tax Credits/Payments | Add Delete | Upload Attachme |
| 46 TAX DUE (Item 45 × Applicable Tax Rate based on Tax Table below) (To Part III, Item 26). 17 Sales/Revenues/Receipts/Fees (net of sales returns, allowances and discounts) 48 Add: Non-Operating Income (specify) 49 Total Income for the quarter (Sum of Items 47 and 48) 50 Add: Total Taxable Income/(Loss) Previous Quarter (Item 51 of previous quarter) 51 Cumulative Taxable Income/(Loss) as of This Quarter (Sum of Items 49 and 50) 52 Less: Allowable reduction from gross sales/receipts and other non-operating income of purely self-employed individuals d/or professionals in the amount of ₱ 250,000 53 Taxable Income/(Loss) To Date (Item 51 Less Item 52) 54 TAX DUE (Item 53 × 8% Tax Rate) (To Part III, Item 26). 55 Prior Year's Excess Credits 56 Tax Payment/s for the Previous Quarter/s | 0 0 0 0 0 0 0 0 0 0 0 0 10,614 22,789 | Upload Attachme |
| ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 51 of previous quarter) ### Total Income/(Loss) Previous Quarter (Item 51 of previous quarter) ### Total Income/(Loss) Previous Quarter (Item 51 of previous quarter) ### Total Income/(Loss) Previous Quarter (Item 51 of previous quarter) ### Total Income/(Loss) To Date (Item 51 Less Item 49 and 50) ### Total Income/(Loss) To Date (Item 51 Less Item 52) ### Total Income/(Loss) To Date (Item 51 Less | 0 0 0 0 0 0 0 0 0 0 0 0 10,614 | Upload Attachme |
| As the time of the same of the | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | Upload Attachme |
| ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 47 and 48) ### Total Income for the quarter (Sum of Items 51 of previous quarter) ### Total Income/(Loss) Previous Quarter (Item 51 of previous quarter) ### Total Income/(Loss) Previous Quarter (Item 51 of previous quarter) ### Total Income/(Loss) Previous Quarter (Item 51 of previous quarter) ### Total Income/(Loss) To Date (Item 51 Less Item 49 and 50) ### Total Income/(Loss) To Date (Item 51 Less Item 52) ### Total Income/(Loss) To Date (Item 51 Less | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | Upload Attachme |

| | Pa | ırt III – Total Tax Payab | (DO NOT enter Centavos; 49 Centavos | s or Less drop down; 50 or more round up) |
|---------------------------------------|--|--|--|---|
| | Particulars | | A) Taxpayer/Filer | B) Spouse |
| 26 Tax Due (From Part V, Scheo | dule I-Item 46 OR Schedule II-Ite | em 54). | 49,687 | 0 |
| | From Part V, Schedule III-Item 62 | | 45,068 | 0 |
| | iem 26 Less Item 27) (<u>From Part V, 1</u> | | 4,619 | 0 |
| 29 Add: Total Penalties (From Pa | | | 0 | 0 |
| | yment) Sum of Items 28 and 29 (Fron | n Part V, Item 68) | 4,619 | 0 |
| | verpayment) (Sum of Item 30A and 30 | | | 4,619 |
| the provisions of the National Interi | Signature over Printed | Indicate TIN.) Name of Taxpayer/Authorized Filadicate Title/Designation and T | IN) | |
| | Pa | art IV - Details of Paym | | |
| Particulars | Drawee Bank/Agency | Number | Date (MM/DD/YYYY) | Amount |
| 32 Cash/Bank Debit Memo | | | production and the second and the se | |
| 33 Check | | | | |
| 34 Tax Debit Memo | | | | |
| 35 Others (specify below) | | | | |
| Machine Validation/Revenue Official | Receipt Details (if not filed with an Au | thorized Agent Bank) | Stamp of receiving O (RO's Signatu | ffice/AAB and Date of Receipt ure/Bank Teller's Initial) |
| Attachments | | | | Add Attachment Remove Attachment |

[BIR Main | Tax Return Inquiry | User Menu | Guidelines and Instructions | Help]

Payment Details

Page: 01

Prev

Print

✓ of 2

Next

Proceed to Payment



Processed by Pablo, Levil Joy Seq# 192 Thank you for banking with us. With PRB, You First !

| | security the has | milities. This occurring o | | min mindra make | HIP HANGETON |
|-------------|--------------------------|-------------------------------|---|-----------------|----------------------------|
| ACCOUN | | - BIR | Thranspir or | ETTER ORDER | of Tax Payment with the |
| | | | | excettine takes | |
| | IR'S NAME | YOLANDA | 0 M | TANG | UHAN |
| THY 1949 | -924. | 144-00000 | TAXTVE | PAT | |
| TAX PERI | 09 | -30. 2024 | TAX FOR | 2550 6 | |
| | | MODE OF | | | |
| / CA | SH | | | | |
| NOTES | QTY | AMOUNT | NOTES | OTY | AMOUNT |
| 1,000 | 3- | 2,000,00 | 100 | | |
| 500 | 1 | 500.00 | 50 | | |
| 200 | 1 1 | 200.00 | 20 | | |
| TOTAL CO | DINS | 1.74 | CASH PA | YMENT | 2701.94 |
| СН | ECK | 1 | CHECK PA | YMENT | - |
| DE | BIT MY A | CCOUNT NO. | 130000000000000000000000000000000000000 | | |
| | | | | | |
| | | | | | |
| AMOUNT | IN FIGUR | NES 12701. | 74 | - | |
| | | | | _ | 1 1 8 |
| | TIN WOR | on the | Wary! | CUIT | hundred One |
| /- | 17 to 4 | -40- | | | |
| 47Www.res | sect to the co | section who entressing a | il merrorgi onla | percepted hard | on that will live used for |
| Buck's D | the Privacy Fo | The supplemental of the state | no data will be | latered party | |
| 4037A45 8 | www. manys ampli | AND THE REAL PROPERTY. | Talided from the | S to time | |
| | | Thin | | | |
| | | ACCOUNTABLE | - | | |
| nonation of | Tree will be on any fam. | | | | |
| ignature ' | verified by | | Approved | DY. | |



Central Portal for Philippine Government Procurement Oppurtunities

Bid Notice Abstract

Request for Quotation (RFQ)

Reference Number

11631705

Procuring Entity

MINDORO STATE UNIVERSITY

Title

Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus

Area of Delivery

Oriental Mindoro

| Solicitation Number: | RFQ No. 2024-232 | Status | Closed |
|-----------------------------------|--|-----------------------|---------------------|
| Trade Agreement: | Implementing Rules and Regulations | | |
| Procurement Mode: | Negotiated Procurement - Small Value Procurement (Sec. 53.9) | Associated Components | 1 |
| Classification: | Goods | Bid Supplements | 0 |
| Category: | Drugs and Medicines | | |
| Approved Budget for the Contract: | PHP 599,937.35 | Document Request List | 2 |
| Delivery Period: | 30 Day/s | | |
| Client Agency: | | Date Published | 24/12/2024 |
| Contact Person: | Christian B. Apostol | | |
| | BAC Secretariat Head Alcate Victoria Oriental Mindoro | Last Updated / Time | 24/12/2024 00:00 AM |
| | Philippines 5205 63-43-2862368 | Closing Date / Time | 27/12/2024 01:00 AM |
| | cbapotol21@gmail.com | | |

Description

Please quote your lowest price on the items / listed below, subject to the General Condition on the last page, stating the shortest time of

delivery and submit your quotation duly signed by your representative not later than _ address stated in the last page. CIEDELLE PIOL-SALAZAR, J.D., Ph.D.

BAC Chairperson

Note: 1. All entries must be typewritten.

- Delivery Period within ____ calendar days.
 Warranty shall be for a period of six (6) months for supplies and materials, one (1) year for Equipment, from date of acceptance by the procuring entity.
- 4. Price validity shall be a period of 30 calendar days.5. G-EPS Registration Certificate shall be attached upon submission of the Quotation.
- 6. Bidders shall submit Original Brochures showing certification of the product being offered (optional).
- 7. Mode of delivery: [] Pick-up (Schedule) [] Door to Door Delivery

No. Unit ITEM AND DESCRIPTION QTY. UNIT

PRICE TOTAL AMOUNT

- 1 sachets Acetylcysteine Oral Powder 200mg 500
- 2 boxes Aluminum Hydroxide Magnesium + Magnesium 20
- 3 boxes Amoxicillin 500mg By 100's 13
- 4 tablets Azithromycin 500mg 230
- 5 tubes Benzocaine + Boric Acid + Eucalyptus Burn 20
- 6 tablets Betahistine Hcl 24mg By 100's 249
- 7 boxes Butamirate Citrate 50mg By 100's 12
- 8 sachets Calamine + Zinc Oxide Lotion 60ml 71 9 tablets Cefuroxime 500mg 800
- 10 boxes Cetirizine 10mg By 100's 9
- 11 tablets Celecoxib 400mg 800
- 12 boxes Cinnarizine 25mg By 100's 5
- 13 boxes Chlorphenamine Maleate 4mg By 100's 8
- 14 boxes Clindamycin Hcl 300mg 7

```
15 boxes Cloxacilin 500mg By 100's 7
16 boxes Clonidine 75mcg 2
17 boxes Cotrimoxazole 400mg By 100's 10
18 boxes Co Amoxiclav 625mg 18
19 boxes Cotrimoxazole 800mg By 100's 7
20 boxes Dequalinium Chloride 16
21 boxes Dexamethasone 500mcg By 100's 5
22 caps Diphenhydramine 50mg 100
23 boxes Domperidone 10mg By 100's 6
24 boxes Ferrous SO4 60mg By 100's (Individually Packed) 22
25 bottles Hexetidine 250ml 32
26 bottles Hypromellose 15ml Eye Drops 55
27 boxes Ibuprofen 400mg 12
28 nebules Ipratropium Bromide 500mcg,. 2.5ml 50
29 boxes Loperamide 2mg By 100's 7
30 boxes Loratadine 10mg By 100's 19
31 boxes Mefenamic Acid 500mg Capsule By 100's 8
32 boxes Mefenamiv Acid 500mg Tablets By 100's 11
33 boxes Metoclopramide 10mg By 100's 2
34 boxes Metronidazole 500mg By 100's 4
35 tubes Mupirocin Ointment 5g 21
36 bottles Methyl Salycilate Camphor + Menthol 120ml 60
37 boxes Methyl Salycilate E-Menthol Tocopherol By 159
38 bottles Methyl Salycilate Menthol Crystals Eucalyptus 120
39 boxes Omeprazole Inhibita 40mg By 100's 12
40 sachets Oral Rehydration Salt 1000
41 pieces Neomycin So4 Polymycinb So4 13
41 pieces Neomycin So4 Polymycinb So4 13
42 tubes Neomycin So4 Polymycinb So4 13
43 boxes Paracetamol 150mg/Ml, 2ml Ampule By 10's 1
44 boxes Paracetamol 500mg By 100's 40
45 boxes Paracetamol Propyphenazone Caffeine 5
46 bottles Povidone Iodine Oral Gargle 1% Antiseptic 70
47 boxes Salbutamol 2mg Tab By 100's 2
48 ing=haler Salbutamol 100mcg/Dose 200 Actuations 5
49 boxes Sambong 35
50 tubes Silver Sulfadiazine Cream 1% 15g 15
51 amps Tetanus Antitoxin 1500iu 200
52 amps Tetanus Toxoid Absorbed 40iu/MI 150
53 bottles Tetrahydrozoline Hcl 27
54 boxes Terbutaline Sulfate 5mg 1
55 boxes Tranexamic Acid 500mg By 100's 6
56 boxes Vitex Negundo L. Lagundi Leaf 600mg By 100's 50
57 boxes Vitamin B1 B2 B12 By 100's 14
58 boxes Ascorbic Acid Tablet By 100's 15
59 tubes Clobetasol Tube 500mcg/G 8
60 boxes Multivitamins 10
61 tablets Acety; Cysteine Oral Effervescent Tablet 600mg 200
62 tablets Amlodepine 5mg 202
63 tablets Losartan 50mg 200
64 tubes Erythromycin 0.5% 3.5g Eye Ointment 10
65 boxes Lidocaine 2% E-100 With Epinephrine 15
66 tablets Meclizine Hcl 25mg 500
67 tablets Ascorbic Acid Vitamin C 500mg 1500
68 capsule Multivitamins 1500
69 tablets Dicycloverine 10mg 500
70 bottles PNSS 500ml 5
```

Created by

Annabelle Quinto Madrigal

Date Created

23/12/2024

The PhilGEPS team is not responsible for any typographical errors or misinformation presented in the system. PhilGEPS only displays information provided for by its clients, and any queries regarding the postings should be directed to the contact person/s of the concerned party.

© 2004-2025 DBM Procurement Service. All rights reserved.

Help | Contact Us | Sitemap

Standard Form Number: SF-GOOD-01 Revised on: May 24, 2004

APPROVED BUDGET FOR THE CONTRACT (ABC) Supply and Delivery of Drugs and Medicines for the University Clinic of MinSU Main Campus Alcate, Victoria, Oriental Mindoro Project Name and Location

| Stations: | Stations: Mindoro State University | | | | | | | | Contract Duration: | uration: | | |
|-----------|---|----------|---------|-------------------------|------------|---|-----------|-------|----------------------------------|-----------|----------------|-----------|
| | | | | | | COVCINA CONVEY CONTRACT | e FILO | OTHER | OTHER COST FACTORS INFLATION, | T FACTORS | | |
| ON MATE | DESCRIPTION | OUANTITY | TIND | CURRENT MARKET PRICE | TOTAL COST | VAI, UIHEK IAXES AND/UK DUTIES APPLICABLE | INSURANCE | COSTS | % | VALUE | TOTAL COST | UNIT COST |
| TEM NO. | | | | | | | | | INFLATION, | TION, | | |
| | | | | | | | | | % | VALUE | | - |
| | | | | | | | | | | (11) | (12) | (13) |
| (3) | (5) | (3) | (4) | (5) | (9) | (7) | (8) | (6) | (10) | (5)x(6) | (10%[(5)+(10)] | (11)/(3) |
| 1 | Acetylcysteine Oral Powder 200mg | 200 | sachets | 21.50 | 10,750.00 | | | | | | | |
| , | Aluminum Hydroxide Magnesium + Magnesium | 20 | boxes | 185.00 | 3,700.00 | | | | | | | |
| ı m | Amoxicillin 500mg By 100's | 13 | poxes | 00'009 | 7,800.00 | | | | | | | 1 |
| 4 | Azithromycin 500mg | 230 | tablets | 79.67 | 18,324.10 | | | | | | | |
| 2 | Benzocaine + Boric Acid + Eucalyptus Burn | 20 | tubes | 120.00 | 2,400.00 | | | | | | | |
| 9 | Betahistine Hcl 24mg By 100's | 249 | tablets | 42.50 | 10,582.50 | | | | | | | |
| 7 | Butamirate Citrate 50mg By 100's | 12 | poxes | 1,550.00 | 18,600.00 | | | | | | | |
| 8 | Calamine + Zinc Oxide Lotion 60ml | 71 | sachets | 00'99 | 4,686.00 | | | | | | | |
| 6 | Cefuroxime 500mg | 800 | tablets | 44.00 | 35,200.00 | | | | | | | |
| 10 | Cetirizine 10mg By 100's | 6 | poxes | 450.00 | 4,050.00 | | | | | | | |
| 11 | Celecoxib 400mg | 800 | tablets | 25.00 | 20,000.00 | | | | | | | |
| 12 | Cinnarizine 25mg By 100's | 2 | poxes | 220.00 | 1,100.00 | | | | | | | |
| 13 | Chlorphenamine Maleate 4mg By 100's | 8 | poxes | 00.66 | 792.00 | | | | | | | |
| 14 | Clindamycin Hcl 300mg | 7 | poxes | 370.00 | 2,590.00 | | | | | | | |
| 15 | Cloxacilin 500mg By 100's | 7 | poxes | 1,100.00 | 7,700.00 | | | | | | | |
| 16 | Clonidine 75mcg | 2 | poxes | 525.00 | 1,050.00 | | | | | | | |
| 17 | Cotrimoxazole 400mg By 100's | 10 | poxes | 121.00 | 1,210.00 | | | | | | | |
| 18 | Co Amoxiclav 625mg | 18 | poxes | 240.00 | 4,320.00 | | | | | | | |
| 19 | Cotrimoxazole 800mg By 100's | 7 | poxes | 390.00 | 2,730.00 | | | | | | | |
| 20 | Deaualinium Chloride | 16 | boxes | 850.00 | 13,600.00 | | | | | | | |
| 21 | Dexamethasone 500mcg By 100's | 5 | poxes | 700.00 | 3,500.00 | | | | | | | |
| 22 | Diphenhydramine 50mg | 100 | caps | 3.50 | 320.00 | | | | | | | |
| 23 | Domperidone 10mg By 100's | 9 | poxes | 1,500.00 | 9,000.00 | | | | | | | |
| 24 | Ferrous SO4 60mg By 100's (Individually Packed) | 22 | poxes | 255.00 | 5,610.00 | | | | | | | |
| 25 | Hexetidine 250ml | 32 | bottles | 620.00 | 19,840.00 | | | | | | | |
| 26 | Hypromellose 15ml Eye Drops | 55 | bottles | 298.00 | 16,390.00 | | | | | | | |
| 27 | Ibuprofen 400mg | 12 | poxes | 380.00 | 4,560.00 | | | | | | | |

| | 3 | 200 | 00.000 | | |
|--|------|-----------|----------|-----------|--|
| Loperamide 2mg By 100's | 7 | poxes | 380.00 | 7,660.00 | |
| Loratadine 10mg By 100's | 19 | poxes | 900.00 | 17,100.00 | |
| Mefenamic Acid 500mg Capsule By 100's | 8 | poxes | 3,625.00 | 29,000.00 | |
| Mefenamiv Acid 500mg Tablets By 100's | 11 | poxes | 400.00 | 4,400.00 | |
| Metoclopramide 10mg By 100's | 2 | boxes | 800.00 | 1,600.00 | |
| Metronidazole 500mg By 100's | 4 | poxes | 1,999.00 | 7,996.00 | |
| Municocin Ointment 5g | 21 | tubes | 179.50 | 3,769.50 | |
| Methyl Salvcilate Camphor + Menthol 120ml | 9 | bottles | 140.00 | 8,400.00 | |
| Methyl Salycilate E-Menthol Tocopherol By | 159 | poxes | 65.00 | 10,335.00 | |
| Methyl Salycilate Menthol Crystals Eucalyptus | 120 | bottles | 175.00 | 21,000.00 | |
| Omeprazole Inhibita 40mg By 100's | 12 | poxes | 2,500.00 | 30,000.00 | |
| Oral Behydration Salt | 1000 | sachets | 4.79 | 4,790.00 | |
| Measurin Sod Polymycinh Sod | 13 | pieces | 555.00 | 7,215.00 | |
| Neomycin So4 Polymycinb So4 | 13 | tubes | 555.00 | 7,215.00 | |
| Paracetamol 150mg/Ml, 2ml Ampule By 10's | ч | poxes | 460.00 | 460.00 | |
| Paracetamol 500mg By 100's | 40 | boxes | 225.00 | 0000006 | |
| Paracetamol Pronyphenazone Caffeine | 5 | boxes | 1,200.00 | 6,000.00 | |
| Dovidone lodine Oral Gardle 1% Antisentic | 70 | bottles | 220.00 | 15,400.00 | |
| Salbutamol 2mg Tab By 100's | 2 | poxes | 439.00 | 878.00 | |
| Salbutamol 100mcg/Dose 200 Actuations | ī | ing=haler | 91.45 | 457.25 | |
| Sambong | 35 | poxes | 645.00 | 22,575.00 | |
| Silver Sulfadiazine Cream 1% 15g | 15 | tubes | 00.79 | 1,005.00 | |
| Tetanus Antitoxin 1500iu | 200 | amps | 110.00 | 22,000.00 | |
| Tetanus Toxoid Absorbed 40iu/MI | 150 | amps | 120.00 | 18,000.00 | |
| Tetrahydrozoline Hcl | 27 | bottles | 200.00 | 5,400.00 | |
| Terbutaline Sulfate 5mg | 1 | poxes | 1,220.00 | 1,220.00 | |
| Transvamic Acid 500mg By 100's | 9 | poxes | 490.00 | 2,940.00 | |
| Vitex Negundo L. Lagundi Leaf 600mg By 100's | 20 | poxes | 270.00 | 13,500.00 | |
| Vitamin R1 R2 R12 Bv 100's | 14 | boxes | 1,012.00 | 14,168.00 | |
| Ascorbic Acid Tablet By 100's | 15 | boxes | 300.00 | 4,500.00 | |
| Clohetasol Tube 500mcg/G | 8 | tubes | 250.00 | 2,000.00 | |
| Multivitamins | 10 | poxes | 300.00 | 3,000.00 | |
| Acety; Cysteine Oral Effervescent Tablet 600mg | 200 | tablets | 36.30 | 7,260.00 | |
| Amlodepine 5mg | 202 | tablets | 4.50 | 00006 | |
| Losartan 50mg | 200 | tablets | 15.90 | 3,180.00 | |
| Erythromycin 0.5% 3.5g Eye Ointment | 10 | tubes | 197.00 | 1,970.00 | |
| Lidocaine 2% E-100 With Epinephrine | 15 | poxes | 2,050.00 | 30,750.00 | |
| | | | 1 | 00 110 0 | |



| | | | | | | | | | Approved Smanl |
|--------------|-------------------------------|---------------|--------------------|-----------------------|------------|---|---|-------------|-----------------------|
| 6,075.00 | 6.300.00 | 1 010 00 | T,950.00 | 200.00 | | | 700 007 05 | 599,957.33 | Recommending Approval |
| 4.05 | 4.20 | | 3.90 | 100.00 | 2000 | | | | 1 / 1 |
| 1500 tablets | olugaco | capsaic | tablets | hot+lec | DOLLIES | | | | od by |
| 1500 | 100 | TOOCT | 200 | - | 0 | | | | Submitted by |
| 200000 - 1 | Ascorbic Acid Vitamin C SUUMB | Multivitamins | Disycloverine 10mg | Dicycloverine Tolling | PNSS 500ml | XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX | XVXVXVXVXVXVXVXVXVXXXXXXXXXXXXXXXXXXXXX | GRAND TOTAL | |
| | 67 | 89 | 05 | 60 | 70 | | | | Prepared by |

MARWNEW, HERMOSA Member, BAC Secretariat

Submitted by (+ +) CHISTIAN B. APOSTOL, Ph.D. Head, BAC Secretariat

CIEDELLE PIOL-SALAZAR, J.D., Ph.D.
Chairperson, BAC

ENYA MARIE D. APOSTOL, Ph.D.
SUC President III

かっか

| OG# |
|-----------------|
| R NoPR D4- 0427 |
| |

PARTICULARS: Duy & Mulicino - Climi - Fy 2015

| | Date | Remarks/ number | Signature | |
|--|------------|--------------------|---|-------|
| PURCHASE REQUEST (3 | Copies) | | PLU | / |
| To supply office for pricing | | | 1 | |
| To budget office for obligation | 1120/24 | | 170 | / |
| To records office for | 16/21/2 | W | W)~ | |
| recording | 11/21/6 | 1 | * | ar ta |
| | 1 2 1 2024 | | 7)/ | |
| To records office for | 11/26/2 | 4 | * | |
| release | - II- F | | | - 2 . |
| To supply office for | | | | |
| canvass, etc, & preparation of PO (below | | | | |
| preparation of the ta | | | | 1 |
| To BAC office for posting | | | | |
| Above 50T | | * 100000 | | 7 |
| ARC Preparation | - | 01 | 11) | |
| To OP for approval of | EC 0 9 20 | 74 | 75 | |
| ABC | - | | 0 | - |
| To BAC for posting | - | | | _ |
| BAC reso | - | | A Partie | - |
| PO PO to supply office for | or | | | |
| numbering | | | | |
| PURCHASE ORDER (4 0 | Copies) | | 7 700 | |
| a dest office for ORS & | | | | |
| Attachment of supportin | g | | 1 2 2 3 1 1 1 | |
| docs | - | * 100 | 198 | |
| To accountant for | | | 1 | |
| availability of funds | | | | |
| an far approval | | | No. | _ |
| To OP for approval | | - | • | - |
| Jr office | | | | |
| To records office | | | 100 | 1.5 |
| | | | The terror of the | |
| To supply office | | | | |
| of cu | nnlier | | | |
| For signature of su | ppirer | | | 1 |
| Copy of PO for | | | | |
| submission to CO | Α | | | |
| To supplier for de | livery | | | |
| 1 office for | | | | |
| preparation of re | quired | | | |
| Jacuments | - | | | |
| To accounting of | ffice for | | | |
| processing of D | · | | | |
| DISBURSEMEN | VOUCHER | | | |
| | | - | | |
| To OP for appr | oval | | | AMIL |
| | Ping No. | | alasta III | |
| To cashier for preparation of | checks | | | - |
| preparation | ature of | | | |
| To OP for sign | atui o oi | | | |
| Checks | rolease of | | | |
| To cashier for | Telease of | | | |
| check | | | | |

lic of the Philippines **TATE UNIVERSITY** 1 Campus a, Oriental Mindoro



SE REQUEST

Fund Cluster:

| : | | Date: 11/18/2024 | | |
|-------------|-----|------------------|-------------|--|
| on gapters | Qty | Unit Cost | Total Cost | |
| JUNEAU P | | | | |
| 0mg | 500 | 21.50 | 10,750.00 | |
| m+Magnesium | 20 | 185.00 | 3,700.00 | |
| | 13 | 600.00 | 7,800.00, | |
| | 230 | 79.67 | 18,324.10 | |
| ptus Burn | 20 | 120.00 | 2,400.00 | |
| 4 | 249 | 42.50 | 10,582.50 | |
|)'s | 12 | 1,550.00 | 18,600.00 | |
| าโ | 71 | 66.00 | 4,686.00 | |
| | 800 | 44.00 | 35,200.00 | |
| | 9 | 450.00 | 4,050.00 | |
| | 800 | 25.00 | 20,000.00 | |
| | 5 | 220.00 | 1,100.00 | |
| 100's | 8 | 99.00 | 792.00 | |
| | 7 | 370.00 | 2,590.00 | |
| | 7 | 1,100.00 | 7,700.00 | |
| | 2 | 525.00 | 1,050.00 | |
| | 10 | 121.00 | 1,210.00 | |
| | 18 | 240.00 | 4,320.00 | |
| | 7 | 390.00 | 2,730.00 | |
| | 16 | 850.00 | 13,600.00 | |
| | 5 | 700.00 | 3,500.00 | |
| | 100 | 3.50 | 350.00 | |
| | 6 | 1,500.00 | 9,000.00 | |
| | 22 | 255.00 | 5,610.00 | |
| | 32 | 620.00 | 19,840.00 | |
| | 55 | 298.00 | 16,390.00 | |
| | 13 | 7 555 00 T | 223, 874.60 | |
| TOTAL 1 | | 465501 | 225,874.60 | |

rsity's Clinic FY 2025

MDS -14-7 101-200 -01-03

proval:

Certified Allotment

Available:

Approved by:

NES

ROVELYN P. ROXAS ENYA MARIE D. APOSTOL, Ph.D.

nance

SAO - Finance

SUC President III

Printed Name

MERVIN L. ICALLA

ntualle

JOELENE C. LEYNES

ROVELYN P. ROXAS ENYA MARIE D. APOSTOL, Ph.D.

Designation:

Director of Auxiliary and General Services VP for Admin and Finance

SAO - Finance

SUC President III

416 471-65



RA1:G44epublic of the Philippines MINDORO STATE UNIVERSITY Main Campus

Alcate, Victoria, Oriental Mindoro



PURCHASE REQUEST

| The second secon | | <u>Full</u> | d Clus | lei. | | |
|--|--|---|---------------------------|------------------|-----------------------------|--|
| Office/Section : Accounting | | PR No.: PR24- 6427 | | Date: 11/18/2024 | | |
| | | Responsibility Center Code : | | 11/18/2027 | | |
| Stock/ Property No. | Unit | Item Description | Qty | Unit Cost | Total Cost | |
| | | Drugs | | 1 | | |
| 53 | bottles | Tetrahydrozoline HCl | | 200.00 | 5,400.00 | |
| 54 | boxes | Terbutaline Sulfate 5mg | | 1,220.00 | 1,220.00 | |
| 55 | boxes | Tranexamic Acid 500 mg by 100's | | 490.00 | 2,940.00 | |
| 56 | boxes | Vitex Negundo L. Lagundi Leaf 600mg by 100's | | 270.00 | 13,500.00 | |
| 57 | boxes | Vitamin B 1 B2 B12 by 100's | | 1,012.00 | 14,168.00 | |
| 58 | boxes | Ascorbic Acid tablet by 100's | | 300.00 | 4,500.00 | |
| 59 | tubes | Clobetasol tube 500mcg/g | | 250.00 | 2,000.00 | |
| 60 | boxes | Multivitamins | | 300.00 | 3,000.00 | |
| 61 | tablets | Acetylcysteine Oral Effervescent tablet 600mg | | 36.30 | 7,260.00 | |
| 62 | tablets | Amlodepine 5mg | | 4.50 | 909.00 | |
| 63 | tablets | Losartan 50mg | | 15.90 | 3,180.00 | |
| 64 | tubes | Erythromycin 0.5% 3.5g Eye Ointment | | 197.00 | 1,970.00 | |
| 65 | boxes | Lidocaine 2% E-100 with Epinephrine | | 2,050.00 | 30,750.00 | |
| 66 | tablets | Meclizine HCl 25mg | | 13.75 | 6,875.00 | |
| 67 | tablets | Ascorbic Acid Vitamin C 500mg | | 4.05 | 6,075.00 | |
| 68 | capsule | Multivitamins | | 4.20 | 6,300.00 | |
| 69 | tablets | Dicycloverine 10mg | | 3.90 | 1,950.00 | |
| 70 | bottles | PNSS 500ml | 5 | 100.00 | 500.00 | |
| | | SUB TOTAL 3 | | - | 112,497.00 | |
| | | | | | (m : m : h) | |
| | | SUB TOTAL 1 | | | 225,874.60 | |
| | SUB TOT | | | | 261,565.75 | |
| | | SUB TOTAL 3 | | | 112,497.00 | |
| | | GRAND TOTAL | | | 599,937.35 | |
| Purpose: | | Drugs and Medicines for University's Cl | inic FY | 2025 | MDS -14- 7 101-200 11-13 | |
| Requested by: Recommending Approval: | | | ed Aliotment vailable: | Approved by: | | |
| Signature. | | hash Julia C. Jul | | po fas | EHAGHL | |
| Printed Name : | MER | VIN L. ICALLA JOÉLENE C. LEÝNES | ROVEL | YN P. ROXAS | ENYA MARIE D. APOSTOL,Ph.D | |
| | Designation: Director of Auxiliary and General Services VP for Admin and | | | | | |